e,
K

oM

MATERIALS - |

- STRUCTURE OF NAYAJO

Preparsd By
Ken Hale, Ellavina Tsosie-Perkins,
Richard Demers, and Dorothy Shank.
ke gy teful]y acknowledoe the support of
"? ”~

8-522.

-4

JELHL Grant sEP-24U74-

Cgune 1,.1977

-

e

Ligguistics -
dniversity of Arizm
Tucson, Arizony B57

et}
jat]

()
P






‘Navajo - Lecture 1

26 August 1976
Kenneth Hale/Ellavina Perkins

1) 1i{’ dzaanééz yiztal rTPhe horse kicked the mule.'
horse .mule kicked
2) rr*{zi dibé yizgoh '7he goat butted the sheep.'

goat sheep butted

3) Ashkii at’éed yizts’gs ‘mhe boy kissed the girl.'
boy girl kissed

4) tééchaa’i masi yishxash 'The dog bit the cat.’

dog cat bit
5) Hastiin asdzani yiyiiltsj 'The man saw the woman. '
man woman saw
6) Hastiin ashkii yizloh ‘The man roped the boy.'
man boy roped
7 Mg*ii dibé yiyiisxi *The goyote'killed the sheep.'

coyote sheep killed

8) Masi 1ééchaga’i yizghas tThe cat scratched the dog.'

cat dog scratched

NOTE: These sentences are all of the type N No Yi-V, where
N is the subject, No‘is the object afid =~ V is the veTb.

1'} Dzaanééz 1ij' biztal 'The mule was kicked by the horse.’
mule horse kicked
2') Dibé ti'izi bizgoh 'The sheep was butted by the goat.'

3'} »At*'ééd ashkii bizts’'os ‘*The girl was kissed by the boy.'

[

4') Masi tééchga’i bishxash 'The cat wés bitten by the dog.'
5'} Asdzani hastiin biilts'4d 'The woman was seen by the man.'
6') Ashkii hastiin bizloh '"7he boy was roped by the man.'
7') Dibé mg’ii biisxi "?he sheep was killed by the coyote.’

8'}) ©ééchaa’i midsi bishxash 'The dog was scratched by the cat.'
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NOTE: The 'primed' sentences are hypothesized to be variants of
the unprimed sentences {1-8). We derive the primed sen-
tences by a transformation called subject-object-inversion,

Subject-Object-Inversion (SOI}: Given any seqguence of the form
K N yi-V, invert the order of the N's and changed yi to bi.

More formally, we use the following statement:

N N yi-v
1 2 3 4 =
2 1 bi~4

The next sentences force us to state S0I more precisely.

9) Lii’ tsé yiztal
horse rock kicked

10) Masi abe’ yilch'al
cat milk is lapping

11) Lééchaa’il leets’aa’ yilnaad
dog dish/plate 1lick
12) Masi naaltsoos yizghas
cat paper scratch

13} Dibé til'oh yilchozh

sheep grass eat{browse on greens)

14) Ashkii naaltsoos yizhjih
boy book/letter grabbed, siezed’

NOTE: The primed versions of sentences 9-14 are unacceptable to
Navajo speakers. An unacceptable {(ungrammatical) sentence
is marked with an asterisk (*). :

9') *Tsé 1ij biztat

10') *Abe’ mdsi bilch’al

11') *Leets'aa’ ééchaa’i bilnaad

12') *Naaltsoos mdsi bizghas

13') *Ti'oh dibé biichozh

14') ©Naaltsoos ashkii bizhjih
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NOTE: A means for blocking the unallowed sentences are conditions
of the following type.

Condition 1: If the object is inanimate, don't apply SOI.

or
Condition 1': oOnly apply SO0I if the second N is animate.
N N yi-v '
[+an]
NOTE: The following set of sentences will allow us to sharpen the

formulation of SOI.
15} Ashkii tsé’éd¢d’'ii yik’idiiltaal
boy fly : stepped on
16) ‘Ashkii bijh viskah

the boy deer shoot(with an arrow)
' shafted

17) At’ééd dibé yizloh
girl sheep roped

18) Ashkii gah yisil
boy rabbit caught

' 15') *7Tsé'édd’ii ashkii bikridiiltddl
16') *Biih hastiin biskah

17') *Dibé at’ééd bizloh

18') . *Gah ashkii bisil

NOTE: At this point we might assume that Navajo nouns are ranked
inte the following hierarchy

Ranking
Human

Animal
Thing

Condition (Improved): If the object noun is lower in the hierarchy

than the subject N, don't apply SOI.

The next sentence will now reguire some additional adjustments in
our analysis.
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*7sah asdzdni yishish

needle woman stuck {pricked)
{(0.K. is Tsah is someone's name.)
Asdzani tsah bishish

(Sentence not good unless tsah is flying around.)
r
— (C Le

Corrected to: *Tsah asdzéni yaa’'iijil

needle woman -stick
Asdzdni tsah baa'iijil

*Béésh ashkii yizhgish

knife (metal)boy cut

Ashkii béésh bizhgish
boy knife cut
*Wdldchii hastiin yishish
red ant man stung
Hastiin wdlichii' bishish
*Tgri*ii i’ yiyiits'dgz
mosquito horse sucked on
Li{’ ts*i’ii biits’'{éz
At this point it appears that even more steps in the hierarchy
must be made. Before the categories ‘'insect' and inanimate
object are added some additional sentences must be considered.
*pichin dibé yiyiisxi
hunger sheep
Dibé dichin biisxi
*Dikos awéé' yidoolna’
dough baby affected
Awéeé’ dikos bidoolna’
For the time being we shall assume that the hierarchy has two
poles, human and abstraction. We can f£ill in the categories

at a later time. This would be a good research topic for a
Navajo speaker.
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Human

2dditional fact:

[personification of objects puts
them on an equal status with
humans]

Abstractions_

NOTE: There are now (at least) two methods to handle the yi/bi
alternations.

1) S80I applies freely {(all the time). The sentences are then
subject to the following output constraint:

Output Constraint - Star any sentence in which the second
noun outranks the first (rule as
ungrammatical).

2) Subject-0Object-Inversion:

Given a sentence of the form N N yi-V, invert the order
of the Ns and change the yi to bi.

501I

Condition: (a) Optional if the subject and object are egqual
in the hierarchy.

{b) Blocked if subject cutranks object.

{c} Oblig. if object outranks subject.
We next consider some simple syntactic properties of some Navajo
sentences.
£ii’ dzaanééz yiztal -+ Dzaanééz 1ii' biztal
pii 23jji’ niléi dzaanééz yiztal -~ Niléi dzaanééz dii 1ii' biztal
This horse that mule ’
NOTE: The sequences Dii1ji’, and niléi dzaanééz move as units.

We label a seqguence of Det(erminer) + noun as a noun

phrase. A noun phrase will have at least the following
structures. )

NP P

7\

Det N N
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Deterniners

dii - 'this', eii 2iji - 'that' (close to you, near addressee),
niléi{ - *that' (distant, but visible), naghdi - 'that' (approxi-

mate), éi -~ ‘that' (distant, referential, evocative},

For sentences, we assume the following minimal structures.

s
NP NP v
I |
N N
| A
rii’ dzaanééz yiztat
s
/N P NP v
Det \\\N N
l | ] |
niléi rii- dzaanééz yiztatl

There are other possibilities for the expansion of the NP.
» » n
NP =+ NP (446 NP)

This structure satisfies our test as a constituent sirice it moves
in one piece.

) Ashkii 486 at'ééd hastiin yiyiiltsg
boy and girl man saw
B) Hastiin ashkii 464 at’ééd biiltsa

NOTE: Thé change between (A) and (B) can also be shown as a change
in sentence structure.
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) /l/ I\v

TP P
N

Z—~Z

l

ashkll dé6 at’ééd hastiin yiyiiltsi

N NP NP

-

hastiin ashkii ddéé atrééd biittsi

Carl's Question: Can ddéd conjoin NP's of unequal rank, and if so,
how do you apply SOI?

| J—

Test Sentences:
Asdzani hastiin déé r{i- yiyiittsa (0.K.)
woman man and horse saw

25) Hastiin ashkii ddd6 1é¢'chaa’i yinoolchéé:ir

man boy and dog is chasing
25') Ashkii d66 1éé'chaa’i hastiin binocolchéél (0.K.)
26") “*Hastiin 1ééchaa’i d48d ashkii yinooilchéét

For 26', the violation is in the order *lééch@g}iﬁdé& ashkii.

This is shown more easily with the following sentence:
*2.ééchga’i ddd ashkii ahinoolchéé:
dog and boy are'running

Thus there is now prima facie evidence for the first treatment of
the yi/bi alternation. ©Let $0I apply freely, but then have a
condition which blockes cases in which NP'sS in construction violate
the hierarchy. This condition will have to be studied in more
detail because of the apparent grammaticality of 25'.

) £ &
[£& Lenfee fé%gﬂ Edvgdars s
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I Tnternal Structure of the Navajo Verd
Complex forms exhibiting the yi-/bi- alternation.
(1) a. Ashkii at'ééd yizts'gs
The boy kissed the girl.

b. At'ééd ashkii bizts’'¢gs
The girl was kissed by the boy.

(2) a. Ashiiké at’ééd yizts’'gs
The boys kissed the girl.

b. Ashiiké ndilt’éego at’ééd yizts’gs
The boys being-two the girl kissed.

(3) a. Ashiiké at'eed deizts’'gs
The boys the girlg_kissed {pl.)

b. At*ééad ashiiké dabizts'gQs
The girl {(by)the boys {was) kissed.

NOTE: The plural is 1nd1cated with the prefix da in 3b.
One would then hypothesize that deil in 3a results from a
parallel sequence of da + yi. Some additional examples
follow in (4} and (5). :

{(4) a. Hastiin ashkii yilhozh
The man is tickling the boy.

b. Hastdi ashkii deithozh
The men are tickling the boy.

a'. Ashkii hastiin bilhozh
The boy is being tickled by the man.
b'. Ashkii hastdéi dabithozh
The boy is being tickled by the men.
(5y a. Hastiin 1i{}’ yizloh
The man foped the horse.
b. Hastél tii’ deizloh

The men roped'the horse.
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(5) a'. At’ééd ashkii bizloh
' The girl was roped by the boy.
b'. At’ééd ashiiké dabizloh
' fThe girl was roped by the boys.
NOTE: Hypothesizing a uniform morphology, a plural da
may be added to verbs exhibiting the yi-/bi- alternation.

The next step is to account for the resulting sequences dei
from underlying da + yi

First alternative:

A) y drops between vowels (da + yi + da + i)

i/ b)) a becomes e before i (da + i =+ de + i)
* {but yiyiisxi 'he killed it' occurs)

Second alternative:

a) a becomes e before y (da + yi =+ de + yi)

b) y drops between vowels (de + yi + de + i)

Third alternative:

a) ay > e (da + yi + de + i) L
{3
The next set of examples (6-10) ‘will illustrate the iterative

foerm of the verb. SYEE D rows bonz, -

(6} a. Hastiin ashkii yithozh
The man is tickling the boy.

4

b. Hastiin ashkii néilhosh

The man usually tickled the boy.
tickles

a'. Ashkii hastiin bilthozh
The boy is being tickled by the man.

b'. Ashkii hastiin nabllhosh
The boy was usually tickled by the man.
(7) a. Béhé dibé yilt’o’
The lamb is suckling on the sheep.
b. BéEhé dibé néiit’o’

The lamb usually suckles on the sheep.
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estéblish the

(7) a' Dibé béhé hiltlo’.
b' Dibé béhé ndbitt'o’.
(8) =&. asdzdni hastiin yiltlah.
The woman is anointing the man.
b. Asdzani hastiin néiltlah.
a' Hastiin asdzani bittlah.
b’ Hastiin asdzdni nédbixtlah
(9) a. Hastiin ashkii néilhosh
The man usually tickled the boy.
b. Hastdi ashkii nideithosh.
al Ashkii hastiin nébithosh.
b Ashkii hastdi nidabithosh.
{10) a. Asdzani hastiin néittlah
The woman usually anoints the man.
b. G4anii hastiin nideiltlah
The women
a'. "Hastiin asdzéni nédbiltlah
b' Asdzédni hastiin nidabittlah
NOTE: From the p:eceding.example sentence we
following order of constituents in the Navajo verb.
Iterative Plural
né da ¥

bi

Stem

We now hypothesize the following set of informally stated
rhonoclogical rules.

a)
[ »
c)
d)

Tone Raising: A prefix immediately between the
stem and a preceding high tone becomes high tone.

y-dropping: y drops (is elided) between two)short

vowels.

a-fronting: a becomes e before i

na becomes ni before da (more specifically, before
prefixes beginning with 4, n, 3 and s). The se-
guence ni is an orthographic convention for a

syllabic nasal (n).



The next examples illustrate the adverbial prefix_yisdé
('safety’). '

(11) a. Hastiin ashkii yisdéilteeh

The man carrieg the boy to safety.
b. Hastdi ashkii yisd&deilteeh
a'. Ashkii hastiin‘yisdébilteehr
b'. Ashkii hastdi yisdadabitteeh

sample derivation for verb in (1la).

yisda+yi+iteeh

‘yisdé+yi+1teeh {by Tone Raising)

yisda+i+tteeh {(by y-dropping)

yisdé+i+lteeh {by a-fronting)
(12) a. Hastiin at'ééd yisdéildds

The man lead the girl to safety.
b. Hastdi at’'ééd yisdideildds
a'. BAt’éé4 hastiin yisdabildsds
b'. At’'ééd hastdi yisdddabildds
The following sentences jllustrate the relative positions of
the adverbial yisdéd-, the iterative nd-, and the plural da-:
Hastiin at'ééd yisdanéittééh
yisdd+ né + yi + ttééh
adv + iterative + yi + stem
Hastdi at'ééd yisddnideiltééh
yisda + né + da + yi + ttééh
adv 4+ iterative + plural + yi + stem
The following sentences introduce an additional iterative
prefix ndéd(nad)-:
{13) a. Ashkii at’ééd yizts'es
The boy kissed the girl.
b. Ashkii at'ééd ndanéizts’g@s

The boy kissed the girl again.
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(13) a'. At’ééd ashkii bizts'gs.
b'. At'ééd ashkii néédbizts’gs
(14) Hastdéi at'ééd yisdanddnideiltééh

Hastdéi at'ééd yisdidnindideiltééh

The man usually saves the girl and is doing it again.

There are two forms for the iterative naa(na):

naani before vowels and/or the stem

naa before a prefix that begins in a consonant

SUMMARY CHART:

Adverbial Iterative Plural

STEM

yisda- na- da-:

o

M

[+129

o

A 118
|

yi-
bi-




'Navajo - Lecture 3 ' l?s
9 September 1976 '
Kenneth Hale/Ellavina Perkins

The Organization of the Verb

Navajo Sentence -Types

Transitives: Ashkii 1{i’' yizloh

The boy roped the horse.

|

ashkii rii yizloh

Intransitives:

Hastiin naalnish

The man is working
Ashkii hataal
The boy is singing
At'eed yalti’
The girl is speaking

. , o _
Hastiin Na’nizhoozhidi naalnish
The man in Gallup works
Ashkii tsdkooh gdyaa (h)addidtlizh
boy canyon down into fell down
At'ééd Kintanigdd naayé
girl Flagstaff to went

NOTE: The last 3 sentences contain enclitic phrases. These
particular phrases contain a noun which refers to a place and an
attached particle. : '

-di 'at, in'
, » ‘ ,
-goo : to

-gdyaa *down into'
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NOTE: We distinguish enclitic phrases from post positional
phrases and assign the following different structures.

NP EP v
N N ' E
| |
hastiin kintdni -di naalnish
S
NP P(ost) P(ositi;:;::N;;:;::H“““‘V
N N P(QSt)IP osition)
l
atrééa ashkii vi-ch i’ vaiti’

NOTE: Two reasons for the difference can be given now.

1) There is a closer physical attachment between the enclitic
particle and the noun.

2) A post position can be stranded. The following sentences
are related by Subject Object Inversion.

At’eed ashkii yich'ji' ydlti
The girl is speaking to the boy. -

Ashkii at'eed bich’ji’ yalti
The boy is being spoken to by the girl.

The alternation is demonstrated by the contrast between sentences
{a-c) and sentences a'~-c').

a. Ashkii hastiin ya& naalnish

The boy is working for the man.
b. At’&éd ashkii yich’i’ yaitd’

The girl is speaking to the boy.
c. Ashkii asdzdni yfighahgi siz{

The boy is standing by the woman.
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a'. Hastiin ashkii ba naalnish
b'. Ashkii at’ééd bich’i’ yaiti’
c'. Asdzéni ashkii b{ighahgi sizi
The followiné is a sentence with a true post positional phrase.

Ashkii 2ii* tl'd66t yee yizloh

boy horse rope with réped

We turn now to the study of the verb particles in the positions
in front of the stem.

In the last session the following positions were established:

Adv.- Tterative Plural ' Stem
yisdéa ' ' né  da oy . e s e

Tinteo safety' bi

ha ndi (na)

‘up & out'’

The following sentences show surface forms of verbs with attached
prefixes.

Hastiin ashkii yisdeiiteeh (< yisdad+yi...i-teeh)

man boy carry to safety

Hastiin ashkii ch’iilteeh (<ch’i-yi-I-teeh)

man bey carrying out horizohtally

Ashkii hastiin ch’ibilteeh (<ch'i-bi-%-teeh)

Hastiin ashkii heilteeh (<ha4+yi+l-teeh)

man boy up & out is carrying
Ashkii hastiin habilteeh (<ha+bi+i-teeh)

To test whether ha- is an adverb we make the verb iteratﬁiive.
This leads to an abstract structure -like the following:

ha+nd+yi+i+tééh (high tone added to root when iterative)
The resulting surface form is:

hanéittééh
The bi form is as one would predict.

handbittééh
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With the ch*'i- prefix one has the next forms:
yi-form: ch’inéixtééh
‘repeatedly carry out horizontally'
bi-form: ch’indbiltééh
Hastiin ashkii yisdéilédds
The man is leading the boy to safety.
Hastiin ashkii ch’iildds
The man is leading the boy out horizontally.
Ashkii hastiin ch’ibildéds ,
The boy is being lead out horizontally by the man
Ashkii :i{i’ hailddés (heildds)
The boy leads the horse up and out.
*1,{{* ashkii habildédés (The bi-form viclates the hierarchy.)
The next sentence contains the iterative prefix.
Ashkii 1ii’ hanéididods
The boy usually lead the horse up and out.

;4 na- prefix also occurs with the meaning 'around'.

yi~form: Hastiin ashkii neilté

The man is carrying the boy éround.
plural yi-form: Hastdéi ashkii ndeitté (<na+da+yi+l-té)
bi-form: Ashkii hastiin nabilté
plural bi-form: Ashkii hastdéi ndabilté (<nat+dat+biti-te)

Questions: What does a verb look like that contains both the
iterative nd and the npa meaning 'around'?

The man usually carries the boy around.
ninéiztteeh (<na+nd+yi+lteeh)

The form nindiliteeh establishes the initial position of the prefix
na-.

Examples of Prefixes on Intransitives:

Lii' naalgeed

The horse is bucking around.



zii* ch'ilgééa
The horse is buck
1ii’ haalgééd
The horse is buck
£ii’ ch’inéago’
The horse usually
£i{i{* nindlgo’ (X

The horse usually

4\

ing out (like out of a chute).
ing up and out.
bucks out.

na+na+lgo?’)

bucks around.

Rule: An adverbial or plural prefix with a low tone will lenthen
its vowel if no prefix containing a vowel appears between it and

the stem.

Taking the stems as a
properties of the slot

Ashkii naané
Ashkii naalnish
Ashkii naaichiad
Ashkii naa’'na’
We now consider the it
Iteratiye Ashkii
| Ashkii
Ashkii
Ashkii
-Plural Ashkii
or Ashi
Ashiiké
Ashiiké
aAshiiké

Interative &
Plural Ashiike

Ashiiké
Ashiiké

Ashiiké

starting point we now try to discover the
s immediately to the left of the stem.

The boy is playing.
The boy is working.
The boy is gesturing.
The boy is crawling.
erative and plural forms of these
ninéd’'neeh
ninalnish
nindtchi’.
ninad’nah
ndaané
iké ndaané
ndaalnish
ndaaichigd

ndaa'na’

ninddaa’neeh
ninddaalnish

ninddaatchi’

ninadaa’nah

sentences:
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These sentences exhibit the four verb classifiers of Navajo.
The classifiers no longer have productive semantic significance.
They are merely part of the verb. They are: '

na-g@-né
na-l-nish
na-t-chid

na-d-na’ {The effect of the 'd' is to glottalize the follow-
: ing n.) :

vimas 'he is rolling along'

vii’mas 'we are rolling around' {(The under-
lying 'd' causes the glottalization
of the following nasal.)

naa’'na’ tcrawling around' ({(<na+d+na’)

Lo
nina'nah
nanina 'You are walking around.' (<na+ni+na)

At one time the classifier system was used to mark transitivity.
Navajo still preserves some relics of this process.

té yibéézh The water is beoiling.
té yitbéézh He is boiling water.
Ashkii niiltlah The boy stopped.

Hastiin ashkii niinilttlah The man stopped the boy.
We turn now to the non~third person pronouns.

Subject Pronouns

shi '*1I' 1st person singular

Py

ni you 2nd person singular



shi d6dé ashkii
ni 464 ashkii nihi First or Second Non-singular
shi dédé ashiiké

The following are sentences with lst & 2nd person subjects.

Shi naashné ' I play.

Ni naniné You play.

shi déé ashkii neii’né I and the boy play.

Ni 444 ashkii naahné You and the boy play.
' {naohné)

shi 386 ashiiké ndeii’'né I énd-the boys play.

An analysis of the preceding verbs isplates the following items.
na-sh-né | |
na-ni-né
na-iid-né
na-oh-né
na-da-iid-né

The following rules are necessary.
d+n =+ 7n
ato =+ a+a (in the speech of some people)

We thus establish the following subject markers:

~sh- lst sing.
-ni- 2nd sing.
-iid- l1st non-sing.
-oh- Z2nd non-sing.

With the verb 'work®' we have the following forms.
shi naashnish {(<na+sh+nish)

Ni nanilnish (<na+ni+l+nish)
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[shi asésé ashkii] nefilnish (<na+iid+l+nish)
nihi

ni déd ashkii naotnish { na+oh+l+nish)
nihi naatnish ’

To account for the above surface forms, the following rules are
necessary.

h+l -+ h+1
h+t+ec =+ I+4c
d+l+c =+ 1l4+c

sh+l+c = sh+c (where ¢ stands for any coensonant)

These rules will be refined and shown to be more general in the
course of our study.

Wé turn now to the forms of the verb meaning 'to gesture'.
shi/na+sh+t+chid/ becomes naashchid
ni /na+ni+l+chid/ becomes nanilchid

[shi aéé ashkii] /na+iid+l+chid/ becomes neiilchid

ni d4déd /na+oh+t+chid/ becomes naolchiad

Some addition rules can now be (informally) stated:
> 1/ 4
d+ 1 +e¢c>da+1+c

Devoicing: c + 1 > c + 1
: ~-voic [<voic]

na+sh+l+nish
na+sh+i+nish

sh+1l+c¢ + sh+c
The devoicing rule has significant effects in Navajo words.
{(Devoicing) Shi t1°'4661 naashié I'm carrying a rope around.
Ni t1'446% nanile You are carrying a rope around.
Shi 468 ashkii t1’66% neiidlé (</na+iid+1é)

Ni 4486 ashkii t1°466%r /na+och+le/ becomes na+oh+ile
{naahtd)
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(Devoicing) Ashkii t1'64% /na+yi_le/ beccmes_ﬁeilé
In the 3rd pefson a-gh- can be added at the hiatus of 2 vowels.
Ashkii naaghd (</na+i/ The bof,is walking around. |
Shi naasha /na+sh+3/ I am walking around.

-4 means 'to walk singularly’
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Navajo - Lecture 4
16 September 1976
Kenneth Hale/Ellavina Perkins

1. Review of Prefix Positions in the Verb

Prefix Chart:

ADVERBIAL IT PL OBJ . .« J SUBJ] CL STEM
yisda- 'to safety’ na da lsf shi | sh b4
'iterative'
ha- 'around, ahout' 2nd ni ni 1
ch’i- 'out horizontally'| naa(nd) 15t.&-2nd iid a
nihi
ha=- 'up and out’ ‘again® 3rd yi/bi oh o
@

The following example sentences serve to review the analysis of
verb forms:

(1) Ashkii dibé neilté

The boy is carrying the sheep about.

na - yi - ¥ - té

ADV O©OBJ CL STEM
na - i - t - té by yY-dropping: y*@/vV__iC
ne - i - t - té by A-fronting: are/ 1

{2) Ashkii dibé neijaah
The boy is carrying the sheep {PL} about.

na - yi - #§ - jaah (jaah = suppletive stem for plural object)

ADVY OBJ CL STEM
na - i - # - jaah by Y-deletion
ne - i - § - jaah by A-fronting

(3) Shi dibé naashté

I am carrying a sheep about.
na - sh - 1 - té
ADV SUBJ £ STEM

4

naa - sh -~ t - té by Lengthening: Ca*Caa/__Co Stem

naa - sh - @ - té by CL-deletion: 1+@/sh__C
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(4) shi dibé naashjaah
1 am carrving sheep (PL) about.

na - sh - § - jaah

ADV SUBJ CL STEM

When the subject is non-third person, the object markers
and bi do not appear in the verb.

(5) Ni dibé naniitté

You are carrying the sheep {8G) about.

na - ni - 1 - té

aADV SUBJ CL STEM

(6) Ni dibé nanijaah

You are carrying sheep- (PL) about.

na - ni - g - Jjaah
ADV SUBS CL STEM
(7) Nihi dibé neiilté
Wwe (2) are carrying thersheep {sc) about.

na - iid - ¥ - té

ADV SUBJ CL STEM
ne - iid - ¥ - té by A-fronting

ne - iid - 1 - té by CL-Veicing: 1>1/d c

*

ne - ii - 1 - té by D-deletion: d¥@/_C
(8) Nihi dibé mneiijaah
We (2) are carrying the sheep_ (PL) about.

na - iid - @ - jaah

aADV SUBJ CL STEM
ne - iid - @ - jaah by A-Fronting
ne - ii - @ - jaah by D-deletion

(8) Nihi dibé naoilté
vou {du.) are carrying the sheep {8G) about.

na - oh - & - té

ADV SUBJ CL STEM

na - o - * - té& by H-deletion: h*g/_ 2C



{10)

{11)

{(12)

(13)

(14)

(15)

97\/\,(

Nihi dibé naohijaah

You {du.) are carrying sheep (PL) about.

na - oh - @ - jaah
ADV SUBJ CL STEM
Ashiiké dibé ndeilté
The boys are carrying a sheep about.

na - da - yi - ¥ - té

ADV PL OBJ CL STEM
na - da - i - ¥ - tée by Y-deletion
na - de - i - ¥ - te by A-ffénting
ni - de - i - 1 - té by Na-reduction:
NOTE: reduced ni stands for a syllabic nasal
Ashiiké dibé ndeijaah
The boys are carrying sheep {PL} about.

na - da - yi - @ - # - jaah
ADV PL OBJ SUBJ CL STEM

NOTE: recall that the subject marker for 3rd
is @
Ashkii shi naashté

I am carrying the boy about.

na - sh - ¥ - té

ADV SUBJ CL . STEM

Shi ashkii nashilté

The boy is carrying me about.

na - shi - ¥ - té

ADV OBJ CL STEM

Sshi ni nanishté

I am carrying you about.

»

na - ni - sh - % - te

ADV OBJd SUBJ CL STEM

na*ni/__ dv

person subjects



(16) Ashkii ni nanitté
The boy is carrying you about.
na - ni - > - té

ADYV OBJ CL STEM

NOTE: the form nanilté can also mean 'You are carrying him
about': :

na - #§ - ni - ¥ - té
ADV OBJ SUBRJ CL STEM

Recall that the object markers yi/bi do not appear when
the subject is non-3rd person.

(17) ashkii nihi mnanihijaah
The boy is carrying about more than one of us.
na - nihi - 9 - jaah
ADV OBJ CL STEM
{18) Ashiiké shi ndashitté
The boys are carrying me arocund.
na - da -~ shi - ¥ - té
ADV PL ©BJ CcL STEM
{19} shi ni nanishté
I am carrying you about.
na - ni - sh = ¥ - té
ADV OBJ SUBJ CL STEM
(20) shi nihi nanihishjaah
I am carrying you (PL) about.
na - nihi - sh = @ - jaah
ADV OBJ SUBJ CL STEM
{21) Nihi shi nashoité
You (du.) are carrying me about.
na - shi - oh - 1 - té
ADV OBJ SUBJ CL STEM
na - sh - oh - ¥ - té by Vowel-deletion: V>g/_ +V

»

na - sh - ¢ - ¥ - té by H-deletion



NOTE: 1In general, the boundaries from OBJ position to the
right are "tighter” than which separates OBJ position
from positions to the left of ORBRJ.

(22) ¥ihi ni naniilté

We (2) are carrying you (5G) about.

na - ni - iid - t - té
ADV OBJ SUBJ CL STEM
(23) Nihi nihi nanihohjaah

You (2) are carrying us (2) about.

na - nihi - oh - # « jaah
ADV OBJ SUBJ CL STEM
(24) Nihi nihi nanihiijaah
Wwe (2) are carrying you (2) around.
na - nihi - iid - g - jaah
ADV OBJ SUBJ CL STEM
(25) Ni shi nashiité
You (8G) are carrying me about.
na - shi - ni - ¥ - té
ADV OBJ SUBJ CL STEM

+

na - shi - § - ¥ - té by the rule of Ni-absorption: _
Ci+ni+Ci/__CoStem
The prefix ni deletes, leaving a high tone on the previ-
ous i.
(26) Ni nihi nanihijaah _
You (8G) are carrying us {2) about.
na - nihi - ni - @ - jaah

ADV OBJ SUBJ CL STEM

na - nihi - § - g - jaah by Ni-Absorption

2. Discovering New Prefix Positions

(27) Ashkii dibé neinilkaad
The boy is herding sheep.
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The rules we already have will give us the surface form of

the verb from the following underlying structure:

na - yi - ni - ¥ - kaad
ADV OBJ ? CL STEM
na - i - ni - t - kaad
ne = i - ni - 1 - kaad
What is the prefix ni occurring between OBJ yi and the
classifier? Since the sentence has a 3rd person subject,

we know that ni is not a 2nd person subject marker.

We begin by trying to determine where the new ni occurs
with respect to subject markers. Examine the following:

{28) shi dibé nanishkaad
I am herding the sheep.

- Our rules -allow us to derive the surface verb form from the
following underlying structure: ' '

na - ni - sh - ¥ - kaad
ADV ? SUBJ CL STEM
The examples (27-(28) show that the new ni occurs in a slot
in between object markers and subject markers. Other

confirming examples: :

{29) Ni dibé naniltkaad

You are herding'sheep.

na - ni - ni - 1 - kaad

ADV ? SUBJ CL STEM
na - ni - § - 1t - xaad by Ni-absorption

{30) Nihir dibé nanotkaad

You (2) are herding sheep.

na - ni - oh - ¥ - kaad

ADV 2?2 SUBJ CL STEM
Both H-deletion and Vowel-deletion apply:
na - ni - o = 1 = kaad

na - n- o -1 - kaad



(31)

(32)

{33)

4 3k

The examples (27-(30) lead us to postulate a new prefix
position, in between the OBJ & SUBJ slots. This position
has traditionally been referred to as the "ASPECT" position:

ADV - IT - PL - OBJ - "ASPECT" - SUBJ - EL ~-STEM

Now consider a new verb set to analyse:

'to shout'
?-SUBJ-CL-STEM
l1gst: shi dishwosh di-sh - l-wosh
2nd: ni dilwosh di-ni —Vl-wbsh (Ei—absorption)
3rd: ashkii dilwosh di- # - l-wosh
lst: nihi(2) diilwosh di~iid- l-wosh
2nd: nihi(2) dolwosh di- oh- l-wosh

What is the new prefix di? We know it 1is positioned to
the left of the subject slot, but we don't know where to
the left of the subject it belongs. The following shows
its position with respect to plural da:

Ashiiké .dadilwosh

The boys are shouting.

da - di - g - 1 - wosh

PL ? SUBJ CL STEM
The new di shows up in between the PL slot and SUBJ slot,
it turns out that di is also in the "ASPECT" slet and
shows up in verbs of 'vocal sounds'.

Notice now the "inceptive" form of the verb 'to work':

'+o start working' {note stem change to niish)
? - SUBJ - CL - STEM

1st: dishniish di - sh - 1 - niish
2nd: dailniish di - ni =~ 1 - niish
3rd: dilniish di = g - 1 - niish
lst: (Z)diilniish di = iid@ - 1 - niish
2nd: (2)doiniish di - oh -1 - niish
3rd: (PL)dadilniish da-di - § - 1 - niish
Example (33) illustrates the "inceptive" di, which also

occurs in the "ASPECT" column:
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. . . OBJ ASPECT SUBJ . . .

ni- ?
di- ‘'inceptive'
di~ 'vocal sounds'

The examples in (34) show that inceptive di follows object
markers:

(34) 'to start weaving it'

OBJ-ASP-SUBJ-CL-STEM

lst: dishtl'ééh g - di- sh - g-t1’88h
2nd: ditl’'édéh g - di- ni - @-tl'ddh
3rd: yiditl’é6h yi - di- § - g-t1’44h
1st: (2)diit1°é8h g - di-iid - g-tl’&dh
2nd: (2)dohtl’ddh g - di- oh - P-tl1°'S4h

PROBLEM: consider the following data:

(35) Shi. ashkii yishxozh 'T am tickling the boy.'
Ni ashkii nithozh 'You are tickling the boy.’
Bastiin ashkii yithozh
Nihi(us) ashkii yiilwezh

Nihi(you) ashkii woilhozh
Ashkii shi shithozh 'The boy is tickling me.'
Ashkii ni nilihozh

-Ashkii nihi nihiihozh

shi =ni nishhozh 'I am tickling you.'

Ni shi shiihozh 'You are tickling me,!
Nihi(2) ni niilwozh " 'We are tickling you.'
Nihf(2) shi sholhozh tY¥ou tau} are ticﬁliﬁg me . "

Based on the examples we have dealt with so far, giﬁe an
analysis of the following verd forms: '

{a) vyishxozh
(b) vyiilwozh

{c} wothozh
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1. Motivation for and discussion of Navajo phonological rules.

We have so far established the follewing verb slots:
apv|{ IT | PL | OBT | ASP | MODE SUBJ CL STEM
na na da | shi ni |(see 2. of sh ¥
ha [rAdé&né ni di this hand-{ ni 1
ch*i nihi | hi out.) iid d

vi ii oh o]

bi

|

We begin with the following paradigm of the
the verb meaning

yishhozh
nithozh
yithozh
Yiilwozh

Wothozh

Ttickle'.

‘T tickled him.

You tickled

him.

He tickled him.

We tickled him.

You tickled

him.

Under our current analytical procedures we
following underlying

{yi) -

? yi -
(yi) -
{(w) =~

sh

ni

iid

ch

The yi- which is

an earlier

1
4
;
1

4

structure.

hozh
hozh
hozh
hozh

hozh

imperfectiveubf

end up with the

present in the lst singular conflicts with

*observation'.

The yi objective marker for the
3rd person appeared to be mutually exclusive with the 1lst
and 2nd person subject markers.
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We hypothesize that the yi's in the non-third person forms
result from the following prosthetic rules.

g > w / &% o
g >y / ## i
g > yi / #% ___ C, Stem

These rules lead to the prediction that the 'yi's' will not
occur in the iterative. The 'real' yi- will_leave its
effect in the 3rd person. This prediction is borne out in
the next forms. :
nashhosh (The yi doesn't appear here.)
nanithosh
™ néithosh
néiilwosh
niddthosh ~ nddthosh

The appearance of the @ —~ yi rule may be the result of a
principle that Navajo verbs must be at least disyllabic.

Another verb whose surface forms are consistent with this
principle is -cha 'cry'.

yvishcha I cry. </ sh-cha /
nicha ' You cry. </ nifgha /
yicha He cries. </ -cha /
yiicha We cryl </ iid-cha /
wchcha 7 : You cry. </ ch-cha /

As before, the iterative is further evidence for the 'phono-
logical' nature of certain 'yi's'. 1In this case a yvi
does not occur in the 3rd person bhecause the verb is intran-
sitive.

Iterative

ndshchah I usually cry.

nanichah

ndchah

néiichah

niddhchah
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The following forms exhibit an altegﬁation between gh and
h in the stem. They differ phonetically only in terms of
voicing {gh is voiced, h is voiceless).

yishhdad </ sh=-ghéddd / I shake it.
nighdad </ ni-ghddad / ‘You shake it.
yighéaad </ yi-ghaad / He shakes it.

The change from gh to h is the result of the devoicing rule.
Devoicing: [Segment] + [Voiceless] / {Voiceless]

In the lst non-singular form the gh becomes g by the d-~effect.
{(See rule handout.}

/~iid-ghdidd/
g (by the d-effect)
yiigdaad (by a prosthesis rule)

The 2nd person non-singular has the following derivation.
oh-gh4ad
woh-gh4ad {(prosthesis)
woh-hdid (devoicing)
Items in the 'mede' position. (Label 'mode' is merely
classificatory and is not descriptive).

Types of modes: imperfective, perfect, progressive (really
an aspect), optative

Items that fill mode slot:
Z: {zero perfective)
ni: imperfective

L4

ni-i: perfective

si={i): perfective
ghi-{: (this is called yi-perfective)
d: optative

The future is a combination of d4i from the 'aspect' slot and
3hi- from the 'mode'.
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some examples of the optative paradigm:

Woshcha Oh, let me cry.
wédécha Oh, let you cry.
Wochen
Woocha
Wohcha

or
woshcha 1lago I hope I don't cry.

NOTE: Items from the mode slot are mutually exclusive with
nad from the iterative slot.

Using the Young and Morgan dictionary (The Navaho Language)
example verb 'to eat separable, isolatable objects'.  Verb
will be listed alphabetically under the future stem.

dit- 'to eat separable isolatable ojects'’

Example listing

F. (future) deesh-dit (diil, yidool, 4idool, etc.)
The first person form is given first, other persons
in parentheses.

C.I. {continuocus iﬁpérfective) yish-deel (nil, etc.)

P. (perfective)
R. (repetitive, term used instead of iterative)

Q. (optative)

Exercise td.acquaint student with Young and Mergan dictionary.
Goal: To locate another position in the Navajo verb. Locate
the element which is sometimes referred to as. the
4th person. The pronoun form hd has a prefix ji in
the Navajo verb.
Example of Jji-in a verb:

doo tin jiraal da One doesn't chew ice.

The ji- can appear as -zh- if a vowel precedes and an
n or 4 follows.

Hint: Look at imperfective and iterative forms.
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Additional Tasks

Analyze (Get underlying forms}:

(1) The continuous imperfective and iterative form verb
meaning to talk, to speak p. 206.

(2) The imperfective and repetitive 'to break it up'’
p. 206. This will introduce a new prefix, whose
behavior we haven't seen yet -hi- {add some rules
if necessary).

(3) Do the C.I. and R. of '"to coach him', 'to give him
© instructions' (p. 209-10).

(4) Imp. & R. forms to stop or finish weaving it (p. 124),
rule must be added. :

-Linguistics-One. of the central goals of the field is to dis-
cover a theory which will represent the native speaker's
ability to construct and understand the sentences of his
language.

The following novel sentence is understood by any Navajo
speaker although it is highly unlikely they have heard it
before.

Cchiih yee’ idilohii shil yildloozh
I have just arrived by elephant.
Question to be covered: What is the nature of the evidence

that a classifier is 'present' in verbs which don't show
it in their phonetic forms?

For example, the verb naashnish 'I work' has been analyzed
as being basically: na-sh-l-nish. The 1 must be removed
by a classifier deletion rule. Thus, the cost of the
underlylng regularity is a phonologlcal rule.

An alternative theory for the presence of classifier may
use the following statement.

pon't use a classifier in the 1lst person singular of
any verb.

To choose between these theories one consults additional
data:

yishhaid
nighdéad
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yishiééh I become.

nileeh You become.
K*'i’dishié I plant it.
K*idile You plant it.
Dishshah I am spitting.
pizhah You are spitting.
Dissééh I am belching.
Dizééh You are belching.

These forms exhibit the following_alternations.

"z *+ s _ The change is caused by the

zh + sh devoicing rule.
1-~+1
gh + h

To eat meat.

nilghal You eat meat. (The voiced form

appears after

voiced segments.)

Some 2nd person non-singular forms of the above are listed

next.

wohhaad

wohteeh
Vk'i'dthé

deohshah

dohsééh

The 'w' is a voiced velar continuant (fricative) with

Note the following alternations between w and h. The
follows voiceless segments. '

Awéé' yiwozh The baby is ticklish.

Ashkii awéé’ yithozh The boy tickles the baby-

yiilwozh We tickle him.

rounding.

lhl
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We now turn to some apparent counter examples to the
devoicing rule.

First Person Singular Forms Second Singular Forms
naashzheeh I amrhunting. nanilzheeh
sodiszin I am praying. ' sodfilzin

yishghal : I am eating meat. nilghat

ddishzhééh I am trimming my hair. adilzhééh

ddishzhddh I am cﬁmbing myself. 4d4ilzhdédh

To account for the failure of devoicing to apply to the stem initial con-
sonant we must make some additional hypothesis. From the second person
forms we see that the classifier is 1. The underlying form for the lst
singular of hunt would thus be:

na - sh - 1 - zheeh

There are two rules which are applicable to the medial con-
sopantal cluster. Fricative devoicing and classifier de-—
letion. The rules must apply in the above order, other-
wigse the wrong surface form will result.

na - sh - 1 - zheeh
Classifier deletion: mna - sh - zheeh
Fricative Devoicing: *na - sh - Sheeh

The other order for these two rules will generate the correct
surface form provided that fricative devoicing only apply
once. That is, the devoiced 1 (%) cannot in turn act as the
environment for an additional application of fricative
devoicing. ’

Assignment: For the following paradigms provide an explana-
tion for the alternations in the stem initial consonant.

Try to maintain the following hypothesis:

ALL STEM INITIAL CONSONANTS ARE BASICALLY VOICED.

'to break a horse' 'to blow on it'
yishshegh yisol
nisheooh nisol
yisheoh yisol
viilzheggh yiilzol

wohsheogoh wohsoi
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conclusion of discussion o©

£ the Navajo verb prefixal'morphology.

voiced in underlying

ule accounts for all cases of

e hypotheses are the

I blow on it

vou blow on it
he blows on it
we blow on it

you blow on it

This is an - -apparent counter

e found in the 1lst
This then suggests that
4 in certain

e lack of the classifier

1. In the last lecture two hypotheses were proposed
A) All stem initial fricatives are
representation
B} The fricative devoicing r
stem initial devoicing.
Fricative Devoicing: [fricative] - [-voice] ]/ [-voice]
¥Yorms which appear to contradict thes
following:
yishshééh I cut hair yissotl
nishééh you cut hair nisol
yishééh he cuts hair yisot
yiilzh&éh  we cut hair yiilzol
wohshééh 7 vyou cut hair wohsol
The problem is in the 2nd person singular.
appears in stem initial position. -
example. A clue to this problem is to
person plural forms. An 1 appears.
the verb has a classifier 1, which is delete
environments.
e . . sh
Cclassifier Deletion: -8 /S — -
The derivation of the ist plural form is:
iid - & - zhééh
iid - 1 - zhééh Cclassifier Voicing
iil - zhééh D-deletion
yiil - zhééh Prosthesis
with the classifier deletion rule th
is accounted for. '
2. Determining the relative position ef

The first form considered is

ni jini tiin

the 4th person marker.

'someone is breaking it up’

A devoiced segment
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This form demonstrates that the ji morpheme is the right of
+he adverbial slot. We next test for the relative position
of the ji with the plural form of the verb nish 'to work'

ndajilnish < na+da+ji+l+nish

The question remains as to the relative position of the ji and
object morphemes. This is decided with'the‘form which means
'someone is tickling me’

shijithozh < shi+ji+l+hozh

Four items which occur in this deictic position are

Deictic
ji- 4th person subject
*i= indefinite object
ho- 4th person object
ho- area {concor&)

Examples of the i~ indefinite
"i-%a in some environments, so

'i-sh-3-'ashd 'I am eating something'

The complete paradigm is

'ashéd < ‘'i-sh-g 'I am eating'

'iyd <. 'i-ni-ya 'you are eating’'(ni-absorption)
‘ayd < i-y@ 'you are eating’

'iidg < *i-iig-3 'you are eating'

'ohsa < S

*i-oh-sa 'vyou are eating'

The '1 can show up merely as a glottal stop.
shi’niithi 'I am being killed' (Someone is killing me.)
shi’diiltsa 'I was seen' - (Someone saw me.)
The ho morpheme may show up as hw as the following form demon-
strates.

Meksigo t’ahdoo hwiistséeh da
4
agreement with area

The shape of the ho is determined by the following rules

ho remains / — CV Co Stem
ho becomes ha / — Co Stem

ho becomes hdé / in Ni-absorption
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The lexical entry for 'sing' is ho . . . g-taak. The verb
has a zero classifier, : )

hashtaal
hétaal
hataatil
hwiitaak

hohtaal

<

<

<

<

<

/ ho=sh-taal /
ho+ni-taalt /
ho+taat /

ho+iid+taal /

NN NN

ho+oh+taal /

'TI sing'
'vou sing'
'he sings'
'we sing'

'vou sing'’

The ji morpheme became zh under certain conditions.

What is the analysis of the followihg

ji+rzh/V—CV

- -« « C Stenm
o

di-ji-di-i-jeeh>dizhdiljeeh

di-i*-di-t-jeeh+dizh’*diltjeeh

ninishti’d&6h

ninitt*déh

niyit1’®4édh

nijiti*4é6n

niniidti*dédéh

ninohtl’4dh

The above paradigm is displayed below

PRINCIPLE. RULES WHICH APPLY

(Ni-absorption)
(Ni-absorption)
{Ni-absorption)

(Vv-deleticn,
D-deletion)

(V-deletion)

in underlying representation.

verbal paradigm?

'I stop weaving it'
'vou stop weéving it!
'he stops weaving it'
'one stops weaving it'

'we stop weaving it'

'yvou stop weaving it'

with its constituents

ADV OBJ MODE SUB ..CL STEM
ni ni sh ti’6éh
ni ni : ni t1'84h
ni vi ni t1’'ddh
ni ji ni t1'66h
ni ni oiid] ti'é0h
ni ni oh tl’séh
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SOME PHONOLOGICAL RULES OF NAVAJO

Devolcing: 1—> 1 /[volceless]_ (ng tn w’(‘e.x q'/Z’S
Classifier deletion: 1—3g / sh .G

h-Deletion: h—>g / 3C

t
A

_fr-— Classifier voicing: *—>1/4d ¢

na-Reduction: na—ni / __ 4av, nv

. ”
Tone assimilation: V-V / VC C,Stem

y-Deletion: y—¥g / VvV iC

a-Fronting: a —e /

Lengthening: Ca —>Caa / ___Co Stem

The "d-Effect": d+n —> 'n

7d+m —> 'm '7 | d -(:v—m _“4 {37 Fer-s S.‘]
a1 —> ! : _ o d- classifiev
dyrz — dz

d +zh — j

d+l — 41

d¥ygh — g

d-Deletion: d—>g / C

V-deletion: V-—>¢ / +V

ni-Absorption: Ci+ni— Cf/ __COStem
Frosthesis: @ —>yi / ##___C Stem
g—y/ #__i
g—>w/# o




(b)

(e)
(d)

p{\' o '?.i .

REGULAR VERB PARADIGMS IN NAVAJO

(L) O-Imperfective

Initial Conjunct 1i-Conjunct pisjunct

yish- CVsh- -iishe- CVVsh-, C{sh—
ni- V- —ii- cvni-,  CVni-
yi- cv- —ii- CVV-, cV-
yiid- ciid- -iid- oviid-, Cviid-
woh- Coh~ | —ooh= CVoh-,  CVoh-

{2) ni-Imperfoctive

Initial Conjunct Disjunct

nish- CVnish- ¢Vnish-,  Cinish-

ni- cvni- cvni-, cvnf-

v{- Gee- (CV-) CVV-, oV~

niid- cvnliid- cVniid-,  CVniid-

noh-~ CVnoh- Gvnoh,  CVndh-

NOTES:

(a) Conjunct forms arc¢ those in which a OBJ, DRIC, or ASP prefix

immediately precedes the mode.  Vihere 0BJ oT DBRIC conjunct
forms differ from ASP conjunct forms, they are given in paren-
theses. '

Disjunct forms gre those in which a ADV, IT, or FL prefix im-
mediately precedes the mode, The first column gives the forms
in which the disjunct prefix hes basic low tone, the second’
those in which the disjunct preflx has basic high tone.

Initial forms are those in which no prefix precedes the mode.

In perfective paradigms, riven on the following pages, the clas-
sifier plays a role in determining prefixal forms. One set of
forms occurs with - and 0-, while a slightly different set oc-
curs with 1- and d-.



Initial
2/0 1/4
vi- vish-
yfn{- y{n{-
y{- yi-
yiid- yiid-
WOO= wooh~=
Disjunct
/0
s/ '
CVV~, CVV =
L r o7 ’ o
CVini-, CVini-
s e
Ccvw-, CVvV-
Fs
Cviid- Cviid-
Fa
CVoo- CVoo-
Initial
3/0 1/4
V4
ni- nishe
vl Y avd
yini-  yini-
P4 .
ni- yi-
niid-  niid-
noo=- nooh-

WY

4z

(3) yi-Perfective

Conjunct
/0 1/a
rav4
Cii- Ceesh-
sr /7 W4
Ciini~ (Cilini-
Cf%— Coo~

giid- Ciide

Coo~ Cooh-

1/4

ey,
CVVshe, CVV sh-
.-// ./ . -'//
Cvini-, C¥ini-

P
CVV=-, Cvv-

s
Cviid-, gviid-

V4
CVooh-, CVooh=-

{4) ni<Ferfective

Conjunct
/0

Fd
CVni-
szhf:
Cee- (CVni-)
CVniid-

CVnoo-

ii-Conjunct
1/0 1/4
-ii- ~iish-
-ini- =ini-
-ii- ~ii-
-iid- ~iid-
=00~ ~ooh-

1/d

CV¥nish-

c{inf-

Ve
Cee-~ (CV=) - -
CVniid-

CVniooh-



Disjunct
3/0
I 7 7
CVni~-, CVni-
s T Ard
Cvini=-, Cvini-
7/ v
CVni-, CVni-
7/
CVniid-, CVniid-
g
CvVnoo-, CVnoo=’
Initial
/0 1/d
sé: sis-
rJ ”
sin{L sini=-
si- Yis-,—
gsiid- siid-

800= sooh-

Disjunct

3/0
Fd
CVse-,
.
CVsini-,
CWs/z-,
CVsiid-,

CVsoo=~,

s
CVse=-

4
CVsini-

/
CVs/z-

V4
CVsiid-

rd
CVso0-

iR

1/a

CVnish-,

s
cvini-,

: va- y

CVniid-,

. CVnooh-,

v

’
CV=-

(5) si-Perfective

Conjunct

/o

# I
Ce~ (CVse-)

7 Id
Cinf; (CVsinf;)

Cees/z- (CVs/z-)

Coed- (CVsiid-)

1/a

CVsis~-,
i

. CVs00=n silco~

/./
CVsis=-
L oo

CVsini-, CVsini=-

P
CVVS=, CVs=

Cvsiid-,

CVsooh-,

rd
CVsiid-
rd
CVsooh-

/ .
ovnish-
Loy

CVin{;

/
CVniid-

e
CVnooh=-

Césh- {CVsis=)
thi; (Cstnf;)
Cees=- (CVs=)

Ceed- (CVsiid-)

CVsooh-rrs5iCoohi~
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{6) Optative

Initial Con junct ii-Conjunct Disjunct

wdsh- CJsh- ~00sh~- CVoshw, CVoshe

wég; 063: -SSL .CV6EL, Cfgg;

wi- Co- ~00~= CVoo~, Cﬁgﬁ

wood- Cood- -ood~- CVood-, CVood-

wooh~- Cooh- ~ooh-~ _ CVooh~, Céﬁoh—
{7) Progressive_

Initial Conjungt Disjunct

yish- Ceesh~ CVVsh-, CﬁGgh-

yi- cif{- CVV-, CVV~

yi- ~ Coo- CVV-, CVV -

yiid- ciid- cviid-,  Cviid-

wo{o)h- Cooh- CVoh=-, Cﬁgh-

(8) Future

The future is identical to the prorressive conjunct formed with the
ASP prefix di-, llence: deecsh-, df{f-, doo-, diid-, doch-. lowever,
when the AST prefix ni- also appears, it follows di- and A high ‘
tone appears on di-. “This hich tone carries over to the following
vowel. Hence: dindesh-, dinfii-, dino-, din{id-, dindoh~.

(9) Itorative

. e
The Iterative is f'ormed by using na- in IT position together with
the O-Imperfective. '

RELAT.VS ORDER OF FREFIX FOSITIUNS:

ADV IT - PL ond DEIC AZP }0DE SUBJ CL STEM
yisdd- ni~ , da- shi-  ji- di-  O-Impeck = she 2=
na- naani- ni- 1ia ni- ni-Impeef ni- 1-
ha- nihi- ho- hi- yi-Yterf iidg- ad-
c@'l- vi- ii=- ni-Ferfl oh-
nl- bi- L Y Si-POI‘f
‘e . Cptative
' _ J \\__—___“«,—_~,m ) Progressive
\’“‘/——\_.__,_
Disjunct Conjunct

prelixes . .prefixes
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The following are words containing (1) the first person
singular possessive prefix /shi-/, and (2) the verbal prefix
/si-/ (appearing in the neuter forms of verbs derived from
g-perfectives). Assume that the underlying forms of these
prefixes are /shi-/and /si-/ respectively. Notice, however,
that the possessive prefix /shi-/ sometimes appear phonetically
&8s [si—] and that the _verbal prefix /si-/ sometimes appears
phonetically as [shi-] . Study the examples and attempt to
state the principle which governs the alternations you observe:

possessive- : s-perfective verb form
shi-m& ‘'my mother’ o gi-dd ‘'he sits'
shi-béézh 'my knife' si-gan 'It’'is dry'
si-ziiz 'my belt' ‘shi-jaa' ‘'they are lying
_ : (plural granular
shi-taa' my father' - objects)’
shi-gaan 'my arm' : si-t{ 'it is lying (animate)'
si-k'is 'my friend/brother' shi-jéé' ‘'they are lying

_ .. ) plural animate)'’
si-dziil ‘'my strength

si—tsiits'iin 'my head’ shi-téézh 'they are lving
‘ : (dual animate)'
si- tse' 'my stone'

shi~cheii 'my grandfather'(llaternal) si-¥-tsooz 'It is lyine
(flat flexible

shi-doh 'my muscle’ | object )’
ehi-tl'izh 'my s el shi-b&&zh  'it beiled'.
si-tsii' ‘my hair' si-do 'it is hot' '
shi-bid 'my stomach’ si-k'az 'it is cold'
shi-da' 'my uncle/nephev’ si-ts'il 'it shattered, broke’
si-wos 'my shoulder' ~ si-z{ 'it stands erect’
shi-ch'4i' ‘'my intestine' | : si-t4 ‘it lies (slender stiff
. . object)'

si-k'ocs ‘'my cloud'
shi-lah 'my sister/brother’ gi-'eez 'I stepped on it'
5\1"£oﬁ N PN P

Ei 7006 wad

gyl bt

sy -Zce



possessive

si~ts6i 'my grandchild (maternal)’

b

g-perfective verb form

si-t'é . "cooked, baked’
si-t¥éé&' ‘'object at rest
(mushy matter)'
'si-ké 'object at.rest (plural
¥ in an open container)'
si-14 'object at rest (slender
flexible object)'
si-sii' 'to be piquant'’
si-'4 ‘'object at rest (bulky hard
object)’
si-yf ‘'object at rest :
(anything bundled or
loaded tovether)'
shi-jonl ‘'object 3t rest

(rnon-compact matter)'

'object at rest
(slender ohjects
in naralilel

shi-zhoozh

position)’
shi~jizh 'it crushed’
shi-zhah 'to be bent (horse-

shoe like)'
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1. Establishing the Phrase Structure Rnles of Navajo.

Ashkii naalnish 'The boy is working.'

Dii hastiin hataal 'This man is singing.’'

Ashkii déé &t’ééd naané 'The boy and the girl are playing.'
Dii awéé’bima naalnish 'This baby's mother is working. "

We begin by hypothesizing that the above sentences consist
of a subject and & verb. The above sentences can be asso-
ciated with the following structures. '

NN
] N

et N hataal
I |
i

N naalnish D
i hastiin

Ashkii D

VA N

<

v

NP déd Nr naané N{\\\ l naalnish
Ashkii 4t'ééa Det N bimé
- pii- awée’

Even more complex trees are possible. The following string
is ambiguous. The ambiguity is made explicit by the fact
that it represents two different phrase markers.

Dii ashkii 466 nléi at’ééd bimid naalnish.
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N\

D?t N

pii ashkii n

/////S\\\\\
v NP T
N ////;66 NP\\\\iiiij%sh

N naalnish

N
I\

L

co /N\ bima De \
T N pii ashkii 11éi at-ééd biméd
nléi atr'ééd

Two NP structures are theoretically possible for the next
sentence.

pii ashkii d&d at’'ééd naalnish. 'This boy and girl are working.
S ' B.
//// \\\\\\\\ : //S\\\\\\\
NP | v NP v
/N /N
NP déd P naalnish Det N naalnish
/N /1N
N at’éé aii N déé N
| |
ashkii ashkii at’'ééd

Ellavina's interpretation favors structure A. Thus one con-
cludes that one can conjoin noun phrases in Navajo, but not
nouns.

To generate the previous structures the following phrase
structure rules are required. These generate phrase markers
(or trees). :

Phrase Structure Rules

§ —+ NP v

, n
NP - NP {(déé NF)
NP > NP N
NP =+ Det N

NP -+ N



Navajo - Lecture 7 g \J(ﬂ\

The second rule is needed because an indefinite number of
conjoined NP can occur in Navajo sentences.

pi{i ashkii déé niléi at'ééd dé6 naghdihastiin . . .

Properties of the Lexicon.

In addition to rules which create structures, we also require
a lexicon (list of the words).

The following words indicate the type of information contained

.in lexical items. .

v
/’///,/]f\\\\\\\ |
Adv Cl Stem - (The stem is the
l I imperfective.)
na 1. nish
v (cry) - Vv {sing)
/
Stem {Imp) Deictic Stem (Imp)
|
cha ' ' ho taail
N N
| RN
Stem Poss N
| |
hastiin bi Stem
|
ma

To £ill in phrase markers use the following lexical rule.

Lexical Rule

Replace the terminal symbols in phrase markers by corresponding
lexical items. :
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An important guestion is whether vyi is part of the lexical
representation, or could possibly be inserted in certain
transitive sentences.

Ashkii dibé neinitkaad 'The boy is herding sheep.'

Niléi hastiin dii ashkii bilii yizloh 'That man roped
} . this boy's horse.'

Dii ashkii niléi at’'ééd yizts’gs 'TPhis boy kissed that girl.’

Ni1éi asdzani biyddzh dii hastiin bitsi’ yizts'gs
'That woman's son kissed this man's daughter.’

Ashkii ddéd at’ééd dibé 4add ti’izi neinitkaad
'The boys and the girls are herding sheep and goats.'

1f the =-yi- is part of the lexical representation, then the
following lexical structure will be necessary for ‘*to herd'.

Adv /Sp cl tem (Imp)

na vi ni

Pt r——

kaad

Our next problem is to block the following sentence.

*Ashkii at'ééd naalnish '‘The boy is working the girl.'
{({but, Ashkii at’'ééd yinaalnish 'The boy is working on the
girl."’
S
NP
Det N na-yi-ni-I=kaad
dii ashkii

In order to insert lexical items properly, the local environ-
ment of the phrase another must be considered. This 1s done
by the strict subcategorization of lexical items.

A transitive verb will regquire that at least 2 NPs appear to
the left. This is written as follows: NP NP
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Nouns may be marked as NP or {(Det) .
The Postpositional Phrase.
Ashkii hastiin y4 naalnish. 'The boy is working for the man.'

Hastiin asdzani yich’j’ yalti 'The man is talking to the woman.'
Ashkii hastiin yil naalnish 'The boy is working with the man.'

Ashkii hastiin yiighah yigd&l ‘'The boy is walking beside the
man. '

Ashkii hastl’ish yiih yitlizh 'The boy fell into the mud.'

’/’/’,’/4////’5
NP pp\\\\\\\\\\\\V

This requires a new set of P.S. rules.

PP <+ NP - P
P + O0bj - Stem

An important property of the postpositional phrase is that it
reflects the same yi-/bi- alternation found in transitive
verbs. A natural hypothesis is that the yi-/bi- alternation
arises from the SOI rule.

at’ééd yi-ch’ i’
=> at'ééd ashkii bich’j’ yaiti’

If it can be shown that PP is a separate constituent and not

part of the verb, then this will support the existence of the

SOT rule. An alternative analysis would require that the
postpositions have both yi and bi prefixed in the lexicon, and

the proper insertion of the yi- or bi- form would reguire know-
ledge of the 'logical subject'. A preferred analysis would be

one in which a bi- replaces a yi- whenever the subject and object
shifts. This single process avoids the duplication of information
in both the wverb and postposition.
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1. Review of last time.

A. Phrase Structure Rules

s > NP (NP} (PP)} V
PP - NP P n
"NP > NP {(ddéé NP}

NP
NP - l Det } N

B. Lexicon

Examples of lexical entries.

‘Noun: N Noun: Preposition: P
ashkii Poss Stem Obj Stem
[Det—] bi mi chi
Verb: v Verb: .
////l\\‘\\ ‘,a”f;;71
AEV Class Imp Adwv Obj Asp Class Stem
ya’ | 1 . | } | |
Selectional 12 i’ na yi ni 4 Imp
Restriction: ‘
[NP (PP)v~—] Selectional Restriction: * kaad

[vp np — ]

2. Da-Plural Agreement.

Consider the following sentences:

Ashkii naalnish ‘The boy is working.'
Ashiiké naalnish 'The boys (DU) are working.'
Ashiiké ndaalnish 'The boys (PL) are working.'

Ashkii d6d at'ééd naalnish ’'The boy and the girl are working.'

*Ashkii 406 at’ééd ndaalnish 'The boy and the girl are working.'

Ashiiké dod at'ééké ndaalnish 'The boys and the girls are working.'
*Ashiiké 466 at'ééké naalnish "The boys and the girls are working.'
Ashkii d¢d at'éékeé ndaainish 'The boy and the girls are working.'

At’'ééké ddd ashkii ndaalnish "The boy and the girls are working.'’
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*Ashkii 466 at’ééké naalnish 'The boy and the girls are working.' .
Ashkii dibé neinilkaad , ‘The boy is herding the sheep.’

Ashkii dibé dédé t1'izi neinilkaad 'The boy is herding the sheep and the
goats.' :

Ashkii at'ééké yoo’i ‘The boy sees the girl.®
*Ashkii at'ééké dayoo'i *The boys sees the girl.®
neinitkaad

. . , o ,
Ashiiké dibd [ndelnllkaad ] The boys (PL) are herding sheep.

'The boys (DU) are herding sheep.’

Ashiiké add at’'ééké dibé ndeinilkaad 'The boy and the girl are herding
' sheep.'

*Ashiiké A4S at’'é4ké dibé neiniltkaad 'The boy and the girl are herding
sheep.' '

Ashkii hastiin y& naalnish 'The boy is working for the man.’

e ; : ) ,
Ashiiké hastiin v [ ndaalnish ] The boys (PL) are working for the man.

naalnish 'The boys (DU) are working fof ﬁhe man.*
Ashkii hastiin y& naalnish 'The boy is working for the man.'
*Ashkii hastdi ya ndaalnish 'The boy is working for the man.'
Ashkii bilah naalnish - 'The boy's sister is working.'
Ashkii bilahkéi naalnish ~ 'The boy's sisters (DU} are working.!'
Ashkii bilahkéi ndaalnish 'The boy's sisters (PL) are working.'
Ashiiké bilah naalnish . 'The boys' sister is working.'
*Ashiiké bilah ndaalnish "The boys' sister is wogking.'

The above sentences lead us to posit the following verb agreement rule.

Plural Agreement Rule: If the first noun phrase is plural_(moré than 2), then
the verb will have da in it. 1If the ver5 has da-,
then:the first noun phrase is plural.

The plural agreement rule is immediately violated by the following sentence.

*Ashiiké bilah ndaalnish |

This we cannot say that the first NP determines plurality.
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We will now refer to the 'first and highest NP' instead of just the 'first
NP'. This will be a general principle. In analyzing'a string, always take
the highest node of a particular category. Thus, in the structure below,

the circled NP will be the domain of the rule and not the NP underneath it.
_ s
e | \v
Nﬁz/ N Adv Cl Stem
| | o |

ashiiké bilah na 1 nish

To account for the S: *ashiiké bilah ndaalnish we will requirc the additional

principle that the head noun determines the number of the highest NP. Thus,
the number of the circled NP is determined by bilah.

A more formal statement of da-plural agreement is

NP

. -
| feerd X (It) i ! (Obj) Y Stem 1, da, 2

1 2

The ‘highest NP principle' (also called the A-over-A principle) ensures that

a seguence such as  ashkii ddd at’ééké will always occur with a plural form

of the verb.
'Y

The next set of forms shows that we will require additional assumptions to

account for da-plural agreement. .
Ashiiké at'®ééd dayoo’'} ‘The boys see the girl.'
At’'ééd ashiikeée daboo’j 'The boys see the girl.'
| - (The girl is seen by the boys.)
Ashkii at'ééké yoo'j} 'The boy see the girls.'
*Ashkii at’'éeéké dayoo’i 'The boy sees the girls.'
At'ééké ashkii boo'j 'The girls are seen by the boy.'

*At'eéké ashkii daboo’{ ‘The girls are seen. by the boy.'
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| Y e
-The current form of da-plural agreement can be ‘'salvaged' if SOOI
were to precede da-plural agreement.

The next set of sentences show yet another violation of
da-plural agreement.

*ashkii hastdi yi ndaalnish 'Phe boy is working for the men.'
*Ashkii hastdéi yich’'i' yddaalti’ 'The boy is speaking to the men.’

*Ashkii hastdi yildahgo ndaalnsih 'The boy is working more than
' the men.'

*Ashkii hastdi yikééiééé ndaalnish 'The boy is working behind the
men.'

*Ashkii hastdi yilé@ji’ ndaalnish ‘'The boy is working in front of
the men.' :
Ashkii hastdéi yil ndaalnish - 'The boy is working with the men.’

The final sentence here viclates our principle, since the second NP helps to
determine da-plural agreement in the verb.

Plural agreement has another wrinkle in Navajo. A number of verbs
have suppletive forms for the singular, dual and plural number.

{No da- need occur in the ?lural in such cases.)

Ashkii yigaat 'The boy is walking along.'
Ashiiké yi’ash '?he boys (DU) are walking along.'
Ashiiké yikah - . 'The boys (PL) are walking along.'
At déd lnidaah} '"The girl is seating herself.'
sida 'The girl is seated.’
At'ééké nikeeh ' ‘The girls (DU) are sitting down.'
- At’ééké siké ' *The girls (Dﬁ) are ;n a sitting
position.'
At'ééké nibiih ‘The girls (PL) are sitting down.'
At'ééké nahaaztd 'The girls (PL) are in a sitting
~ position.'
(Awéé' naaghd. ‘The baby is walking.'
Ashkii awéé' nayiila ‘The boy is walking the baby.')
*Ashiiké - ?igéél ' 'The boys {are) walking along.'

*aAshiiké nidaah 'The boys are seating themselves.'
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*ashkii yi’ash

*ashkii yikah

*Ashkii nibiih

Y

o

b

'*The boy (are) walking along.'

*The

boy (are} walking along.'

'The boy are sitting down.'

The suppletive stem selection is a-genéral feature of Navajo.

Different stems may occur with different spatial configurations

¢f the subject.

Ashkii sidéa

Ashkii siti

Ashkii si‘'zi

Ty

Tr*60t sild

Beeldléi
Beeldléi
Beeldléi
Beeldléi

Beeldléi

The wverb

si’4
sikaad
shijool

siltsooz

sighi

'The
'The

'Thé
'Thé
'The
'The
'The
'The

‘The

boy is sitting.'

boy is lying.'

boy is standing.’'

rope is
blénket
biankét
blanket
blanket

blanket

*situated'.'

is

is

is

is

is

in position.’
lying spread out.'
heaped.'

lying flat.'

bundled.’

number suppletion is handled by stem selection in the

base. The verb will be inserted in the tree if its number

features match those of the subject.

Perfective

{condition: subject is)

N
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AShkii at'ééd yiighah yig&4l . ‘'The boy is walking beside the

: girl."®
* _ yi’ash

Ashkii at’ééd yildajiyigdd:z "The boy is walking in front of

the girl.'

* _ yir’ash

Ashkii at'ééd yil yi’ash . ‘*The boy is walking with the girl.'
Ashkii at'ééd yit yigdaz 'The boy is walking with girl.

(the girl is not walking)

There are three types of theories which can be proposed to account .

for the interpretation of the last two sentences. -

(1) The sentences with the dual stem may have a more abstract
source. Namely the comitative PP's come from conjoined

expreSSions.

Conjunctlon
Movement
P
\ - /\ I
! NP yitash aahkl; NP P yi’ash
a6s - |
ashkii at’ééd at'ééd vyil

{2) Comitative phrases are compounds of a type. NP - NP NP yil

s s
///////’ or //’////
'\l’P NP
NP NP Conj - NP Pg\\
NP P

(3) Stem selection and da-plural are governed by strictly semantic consider-
ations. What matters is how may entities participate in the action of
the verb.
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.The da~plural can show-a.distiibutive object or subject.
Ashkii hastdi yilaahgo ndaalnish *The boy is working more than the men.'!
Ashkii hastdi yil ndaalnish | 'The boy is working with the men.’
Besides number agreement there is person agreement.
Shi naashnish
Shi dibé nanishkaad
Shi hastiin bich’}’yashti’
*Shi nanilnish
Shi d66 ashkii neiilnish

Subject Person Agreement. Rule

: NP . | ' =' ’ x-persbn )
[x"person:l X | | (cl) stem => 1, [ . ] 2
. y=number

y-number

1 2

/s \ |
/NP\B rd ‘I'
NP N naalnish (It can't be naashnish. Thus,

the person features of the head
are copied onto the highest NP.)
Shi Shimd
+3rd

Our present theory predicts that verbs will be 'bad‘ is there is

a conflict between the person or the subject and the person of the

stem.
yish'ash ndaashnish
dual stem l, 1st sg.
lst sg. subject plural

*ghi ndaashnish
*shi yish’ash

*shi yishkah
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*Shi séké
*Shi nishkeeh
*Shi nishbjiih
But such verb forms occur.
(Shi) ashkii bil yish'ash 'I am walking along with the boy.'
(Shi) ashiiké bit yishkah 'I am walking along with the boys.'®
(Shi) at’ééd bil sdéké 'I am sitting with the girls.'
éhi hastéi bil ndaashnish

The 1last set of sentences show that theory two cannot be correct.
If the features of the highest NP were an amalgation of the feature
of the lower constituents there would be no way to select both the

proper subject maker and the correct verb stem.
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1. Conclusion of Discussion of Agreement Rules in Navajo.

Conditions on well—fo:medness of structures. If a S does not conform to

the following rules (i.e. (a-e) below), assign a star to it.

(a) Da-plural agreement. If and énly if V contains the prefix gg; it
appears in a structure of the form

NP X v
[+p1]

(Exception: unless V is intransitive and its stem is marked [+p1].)

{b) Intransitive Stem Selection. If the stem of an intransitive verb is

a
marked Sg] , then V appears in a structure of the form NP X A

Bpl [%; i]

Examples:
Singular: Ashkii yigaa:l
[+sg +s9g
-pl -pl
Dual: Ashkii 466 at’ééd yi’ash

[
-pl
-Pl
Plural: Ashkii ddd at’ééd ddéd hastiin yikah
+pl
+pl

_ oI
{c)- Subject Person Agreement. If V contains an | BII| subject person
' Ys9
marker, then V appears in a structure of the form _ NP X v
ol
BiT
Ysg
I = f£first person /sh~/ = [+I, -1II, +sg]
II = second person /ni-/ = [-I, -II, +sg]
sg = singular /iid-/ = [+1, -II, -s9]
Joh-/ = [-I, +1I, -sg]
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These features are assigned to noun phrases as well, of course:

» *

shi déé bi

A

+I (Note: +I in any conjunct dominates.}
=11 '

Example: Shi d&4 dii ashkii...diit'ash.

'T and this boy...are walking.'

(d) Transitive Stem Selection (depends on object). 1f the stem of a

transitive verb is marked [g;i}, then V appears in a structure of

the form:
NP NP X v
osyg
fpl
Examples:
Hastdl R
Hastiin }ashkll neilte.

[+sq] [+sq]

'The men are

'The man is } carrying the boy around.

Hastiin ashkii yisdd yiilddz.

[+sq] [+sg]
'The man carried the_boy to safety.’
Hastiin ashiiké neijaah.

[-sq] [-sg]
'The man is carrying the boys arocund.'
Hastiin ashiiké yisdayii’eezh. _

[-=g] [-sq] (ashiiké can be either dual or plural)

'The man carried the boys to safety.’

Certain transitive stems {which derive from intransitive stems) do

reflect a dual:

Singular form: Shi awéé’ nabiishli.
[+sg]

'T am walking the haby around.’
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(e)

(cf. awéé’' naaghd ‘The baby is walking around.')
[+sq] h
na  bi (i)sh t &
adv object 1st cl stem(sqg)
marker

Dual form: Shi awéé’ nabiish’aash

2]

'I am walking two babies around.’

oI
Object Person Agreement. If v contains a _BII object person
' Y89

marker, then V appears in a structure of the form:

NP NP X v

ol
BIx
Ysg

Example: Niléi hastiin shi a66 sitsili yisdanihidoo’ish.

'That man will lead me and my brother to safety.'

General condition on the application of rules: When a rule mentions

a particular phrasal categbry, it must appiy to the maximal analysis

of such a category. (Chomsky's A-over-A.)

Refining Navajo Agreement Rules. The following sentences will force us to

revise da-plural agreement (DPA). Given the above rules certain predictions

on grammaticality are made. These predictions are matched with the actual

judgments.
{a) DPA and SOI ' ' Da-Plural Agreement
Predicted =~ Actual
1. ashiiké at’éé&d dayoo’i - 0K OK
[+p1] [+sg] see
2. at’eed ashiiké daboo’i * OK

[+sg] [+p1l
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DPA and S0OI : : Da-Plural Agreement
Predicted Actual
3. ashkii at’ééké yoo’i OK OK
[+sg] [+p1] -
4. at'ééké ashkii boo’i 7 _ ' * OK
5. ashkii at’ééké dayoo'i : : * *
6. at'ééké ashkii daboo’i ' Y OK *

The incorrect prediction of DPA results. from ordering SOI then DPA’ but if
order is DPA then SOI, the correct stars are assigned. Further, if the
DPA rule is a condition on lexical insertion then we would automatically
get the right ordering, i.e. SOIlwould automatically follow DPA, assuming

that it is a transformational rule.

{b) Transitive Stem Selection and S0OI Predicted Actual
: 501 TSS
TSS 501
1. Hastiin ashkii neilté OK OK ' OX

[+sg] [+sq]

2. Hastiin ashiiké neijaah . OK Ok OK
[-sg] [-sg]

3. Ashkii hastiin nabilté OK oK - CK
[+sg] [+sg]

4. Ashiiké hastiin nabijaah * OK OK
[+sg] [-sg] '

5. Hastéi ashkii neilté OK OK oK

[+sg] [+sg]

6. Ashkii hastdi nabilté o . * oK oK

[-sg] [+sql
If 7SS ordered before 501 the correct grammaticality predictions are made.
If TSS is a condition on lexical insertion, then SOI (if it is a transformation)

would automatically follow TSS.

(c) DPA and Conjunct Movement Predicted Fact
1. Ashkii hastdi ya naalnish. OK OK

2. Ashkii hastdéi yil ndaalnish * OK
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DPA and Conjunct Movement ?rgdicted Fact
3. Shi hastdéi ba naashnish. | oK~ OK
4. shi hastoi bil ndaashnish. * OK
5. Shi ashkii bil yish&a:. OK OK
6. Hastiin ashkii bil yi’ash * OK
7. Hastiin ashkii yil yigda:i OK OK
8. Hastiin ashkii yi% yi‘ash o * OK

The incorrectly starred sentences could be reanalyzed such that the deep

structure (using (2) as an example) is:
/ S\ .

/ TP\ V
P aso NP

ashkii hastdi

N ndaalnish

and assuming that this structure undergoes a rule--call it Conjunct Movement

(CM) --which derives the following surface structure:

NP /PP\ v
TP P
ashkii hastdi yit ndaalnish

Da—flural Agreement applies to the DS and tﬁen Conjunct Movement applies—-
ji.e. the ordering is-as follows:

Da-Plural Assignmeht

Conjunct Movement

But if {(4) is reanalyzed in that fashion, there is a problem.
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shi d66 hastéi ndaashnish

The appearance of the subject marker /sh-/ is bad, theoretically. The
~sentence is, however, correct in regard to the appearance of /da-/.
The expected person agreement would be as follows:
ghi 365 hastéi ndeiilnish.
+1] +I]
| -sg9

Rule ordering can solve this problem. The ordering

pa-Plural Agreement
Conjunct Movement
Subject Person Agreement
will give the correct result. Thus, evidently, Subject Person Agreement
differs from DPA in that /sh-/ agrees with shi and /da-/ agrees with
/shi hastéi bil/ (< shi ddd hastéi }.
We can now consider how Subject Person Agreement interacts with stem

selection. Consider the sentence

shi ashkii bit yish’ash
dual

'7 am walking with the boy.'
This sentence will be correctly generated with thé following rule
ordering:
ISS (Intransitive Stem Selection)
cM (Conjunct Movement)
SPA (Subject Person Agreement}
Can we get nonsingular subject marking with a singular stem?
Nihi na'nizhoozhigdd diit’ash ‘'We (2) are going to Gallup.'
Nihi na’nizhoozhigdd diikah 'We (pl) are going to Gallup.®

Nihi na’nizhoozhigdd *diidaat 'We (sg) are going to Gallup.'
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Evidently not. However, the verb form /diidd41/ can occur in gram-
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matical sentences, for example:

Nihi ta’ Na'nizhoozhigdd diidaal.
[~sg]

"One of us will go to Gallup.'
Cur ruleé predict that this sentence is ungrammatical. We could save
the rule by assﬁming a.rule of Quantifier Floating {Q-Float), which
derives (b) below from (a):

{a)

NP
[+sg]
ﬁp
nihi ta’ Né’nizhddéhigéé di- -aa1
[+sq]
b)
NP NP //////}ﬁl\\\\\x v
nihi ta’ Na’nizhoozhigod di-iid-aal

The deep structure (a) would allow the correcﬁ-stem selection, and
the derived structure following Q-Float (i.e. (b) above) would allow
the correct subject agreement. We thus have the fellowing rule
ordering
Stem Selection
Q—Float.
Subject Person Agreement.
The same facts can be constructed with transitive verb stem selection.
Hastiin nihi %a’ yisddnihildds.
object [-sg]l+sg]

"The man is leading one of us to safety.'
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We now have three blocks of ordered rules
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Da-Plural Agreement {DPR)
A. Intransitive Stem Selection-(ISS)

Transitive Stem Selection (TSS)

Subject-Object Inversion [SOI}
B. Conjthcé Movement (CM)

Quantifier Float (QF)

Subject Person Marking (SPM)

c.
Object Person Marking {OPM)

Summarz.

1. Person agreement behaves differently from number agreement. Number agree-
‘ment is_early, while person agreement is late.

2. It appears that number agreement is selectional, i.e. a condition on lexical
insertion, while person agreement is a late transformational rule.
An alternative conception of these facts holds that the two types of rules

consistently lock at different things.

(a) Person Agreement is, in fact, structurally governed, while

(b) Number Agreement, on the other hand, is concerned with aspects of

meaning.
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Conclusion of Discussion of Agreement in Navajo:

In the previous lecture a theory was proposed to account for sentences
such as the following:

() (shi) hastiin bil yish’ash. 'T am walking with the man.'

{(B) (Shi) hastdi bil ndaashnish. ' 'T am working with the men.'

The theory which accounted for these sentences used ordered transformational

rules.
(A) DPA, ISS,.TSS (Dé;Plural Agreement, -.... )
(B} QF, CM (Quantifier quat, ..... )
(C} spPa, OPA (Subject Person Agreement, ..... }

1. Structural change associated with Quantifier Float. The source of the
sentence /Nihi ta' diidaat/ is (a), the resulting structure is (b):

(a) s

T

NP [+sg] _ \"

Nihi 1a’ : ai-iid-adl
[+sg]

e

NP N

(b)

Nihi ia’ di-iid-aat
+I ] [+I ]
-59 - —-sg
2. Structural change associated with conjunct movement. The source of sentence

/Hastiin ashkii yil naalnish/ is {a), the resulting structure is (b):
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hastiin ashkii A yil ‘ naalnish

/ S\
NP PP v

SN

(a)

(b)

NP

hastiin ashkii yil naalnish

Statement of Conjunct Movement Transformation.

NP - 466 Wp - A - yit - X =
1, 2, 3, 4, 5, 6
lR gl gl - 3! 5! 6

The rules of CM and QF are metivated by the two separate agreement pro-
cesses. The next set of sentences will be problematic for the above theory.

We will eventually formulate agreement in terms of the logical form of sentences.

ashkii t6 dilchxoshi bil 1ikan 'The boy likes soda pop-'

(shi) td dilchxoshi shit tikan.  'Soda pop is sweet to me. "'

Ashkii at'ééd bil nizhéni.  'The boy regards the girl as pretty.'
At*&&d (shi) shil nizhéni. 'The girls are pretty to me.’
#(shi) ashkii bil nishzhoni. 'The boy likes me.'

'T am pretty to the boy.’

*Linishkan. 'I am sweet.'

Y&’ Anisht’ééh. 'T am good.'

Ashkii at’ééd bil nizhdni "The boy likes the girl.’
: 'The girl is pretty to the boy.'
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‘Affection' verbs always occur with the 'bi-forms' of the postposition.
*pt'ééd ashkii yil nizhéni. 'The boy likes the girl.'
The semantic object of affection verbs must be third person.
*Ashkii bil ya'anisht’ééh. 'That boy likes me.'
However, the semantic object is evidently the subject, in structural

terms. The structure of /td dilchxoshi (shi) shil likan/ is, presumably:

'S\
N ////PE\\\\\ v
Nr P
t6 dilchxoshi shi shil rikan

Consider now the plural forms:
A. Ashiiké té dilchxoshi bil daalkan. 'The boys like soda pop.'

TS dilchxoshl nihit daalkan. 'We like soda pop.'

Ashiiké at’'ééd bil danizhdni. - *The boys like the girl.'

B. Sentences with 'locative subjects' have ho-agreement in the verb.

Tucson-di ya'ahoot'ééh. - _ "It is good in Tucson.'
Tucson~di hozhéni. " 'It is pretty in Tucson.'
(Shi) Tucson-di shil yi'ahoot'ééh. 'T like it in Tucson.'

(Nihi) Tucson-di nihil ya®adahoot’é&éh. ‘'We like it in Tucson.’
The verb agrees with locative subject, but also has da-agreement with the
ocbject of the postposition.

Nil ya'&hoot’ééh. ‘ 'you like it (place).'’
Is /nil/ part of the verb? The placement of the interrogative enclitic /-ish/.

indicates that /nil/ is a separate constituent:
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Nitish ya’&hoot’ééh. ‘Do you like it (place}?’

The agreement with da in the following sentence is problematic--at least
it is so, if /ashiiké/ is thé grammatical object of the postposition:

Ashiiké toé dilchxoshi bit daalkan. 'The boys like soda.pop.'

For the (A.) sentences above, how is agreement taking place? Agreement
with subject, object, or both {coordinated)? Note that with a dual noun in
first position da doesn't occur.

*Ashkii A& at’ééd td dilchxoshi bit daalkan.

- 'The boy and the girl like soda pop.'
Thus one cannot sum up the dual subject plus the object and get a plural. These
sentences thus cast doubt on the current (structural) formulation of DPA.

The following problematic sentences also exist:

Ashkii bilii’' hdolé. 'The boy has a horse. '
boy his-horse exists

(shi) shilii’ hélg. 'T have a horse.’
Honish1g. 'I exist.’

HonilQ. "You exist.'

Ashiiké bilii' dahdle. 'The boys have a horse.'

The last sentence apparently has the following structure:

ashiikeé bilii’ dahold
One would expect that /bilii’/ would determine the plurality of the subject; but

here, evidently, the possessor /ashiiké/ is responsible for the appearance of

/da-/.
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Ashkii ri{i’ bee hdld. 'The boy has horse(s}.'

The underlying phrase marker for this sentence is presumably the following:

/ \v s01

/ \ =—> Ashkii 1i]’ bee hdéld.
P

il ashkii bee hé1o
Awith)

from which SOI derives /ashkii 1ii‘' bee hélg/. The following sentence, however,
is ungrammatical: *Shilii dahdlg. 'I have horses.' The noun /tii’/, which
could have a plural meaning, should be able to take /da-/ in.the verb, but it
does not here., Similarly, the sentence

Lii' shee hélo.
is ambiguous, according to the number of horses possessed. Now censider the
following sentence

Ashiiké ddé at’ééké bil{{’ dahdld. 'The boys and girls have (one) horse.'

Although the head is potentially singular, the verb must show da-plural agreement.

S\
/ NP\ V
NP\\\\\ N
NP/ NP dahdld
ashiiké déé  at’ééké bilii’
A
?

The following sentences also show this discrepancy with da-plural agreement.
TrA4’aniit’'é nihilii’ dahdld. 'All of us have horses.’

'BEach of us has & horse.’
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Tr44’ Aniit'é nihilii’ t’4414°1 dahdlsd. 'Each one of us has one horse.'
This sentence is bad without /géf/.

How do we get plural agreement on sentences such as.the follow?

Ashiiké d6d at’ééké bilii® dahéld. |
Maybe /bilii’/ is an object, and not 'a head'. But /hélé/ is not transitive,
so that is unlikely. Consider also:

Ashiiké 1ii' bee dahdlg.

Lii’ nihee daho16.

Ashkii 1}i’ bee hole.

£ii' shee holo.
To account for the problems of DPA, a new theory will be proposed--roughly:

Assume that all verb forms are generated in the base. If V contains

/da-/, then its subject in logical form must be capable of referring to a
plurality.

New Version of Stem Selection:

If V is intransitive (bzw. transitive) and containsran[g:?] stem, then

the subject (bzw. object) in logical form must be capable of referring to

a cardinality of [g;g .

Example of formalism expressing logical form:

Ashkii naalnish: (ashkii, Ax (x naalnish))

Ashkii at’'ééd yizts’os: (ashkii, Ax (at’ééd, Ay (x, y, yizts’gs)))

The logical form of /at'’'ééd bi’dizts’es/ ig the same as contained in the
inner parentheses of the above expression, i.e. (at’* ééd, Ay (x, y, yizts’gs))
where x 1is not bound.

Nihi ta’ Na’nizhoozhigdd diiddar. 'One of us is going to Gallup.'

]
/N///\\
,////52\\\\\‘~\

NP v

nihi ia® Na'nizhoozhigdd  diidaal
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Stem selection will be determined by the subject in logicél form-(la’)
ta’, Ax {(x Na'nizhoozhigdd..... 44%) add ta', x (x nihitah nilj)

1a’, Ax (x Na'nizhoozhigdd doogdadl ddé x nihitah nilj)
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Navajo Problem I

Consider the following sentences.

{1} (a) ({shi) ashkii nanishtin 'I am instructing the boy.'

{b) Ashkii (shi) nashinitin 'The boy is instructing me.'

{c) 8hi 66 ashkii na’ahiniitin *'I and the boy are instruct-
ing each other.'

(2) {(a) (Shi) ashkii yiiltséd 'I saw the boy.'

{(b) Ashkii (shi) shiittsi *The boy saw me.'

{(c) Shi débé ashkii ahiiltsd ‘'The boy and I saw each other.
{3) {a) (shi) ashkii bééhosésiid 'I got to know the boy.'

{b) Ashkii (shi) shééhoossiid 'The boy got to know me.’

{(c} 5Shi déé ashkii ahééhosiilzjjid 'I and the boy got to
know each other.’®

In the (c)} sentences of {1-3), the reciprocal prefix {/ahi-/ appears
in object position. This prefix can appear in a transitive verb
provided that the subject 1is nonsingular. Now consider the following.

(4) (a) *Shi na’ahinishtin '*I am instructing each other.'

{(b) *(Sshi) ahiistsa **I saw each other.'

(c) *(shi) ahééhosiszjijd '*I got to know each other.'

The verb forms in (4) a-c are intermnally inconsistent. The presence
of the reciprocal prefix implies that the subject is nonsingular,
but the subject prefix is 1lst person singular. Now consider the
following grammatical sentences, in which precisely these same
internally inconsistent forms appear.

(5) {a) (shi) ashkii bil! na’ahinistin '*I am instructing each
other with the boy.'

(b) (Shi) ashkii bil ahiistsg '*I saw each other with
the boy.'’ :

{c) Shi ashkii bil ahééhosisziid '*I got to know each
other with the boy.'

Devise a theory of reciprocals which explains the ill-formedness of
(4) a-c¢ and the well-formedness of (5) a-c. NOTE: /ahi-/ with 1
classifier wverb, ¥ =+ 1, /ahi-/ with ¢4 classifier verb, ¢ - 4
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1. Enclitics.
PP
-
s NP (NP) ({EP})

PP + NP P

EP > N E

////EP\\\\ ////PP
T E NP \P
Kintani di kin bii®

Differences between postpositional phrases and enclitic phrases.
(A) Postpositions take NP, enclitics take N
(B} Postpositions take object prefixes
{C) Object of Postpositions can be ripped out (moved by transformations)

{D) Enclitic phrases refer to places.

Examples:
Shizhé&'é Kintédnidi naalnish. ' ‘My father ﬁorks in Flagstaff.'
*3hizhé'é Xinldnigdd naalnish. 'My father is working in the
direction of Flagstaff.'
Shizhé’é Kinlanigdd deeyé. “'My father is going to Flagstaff.'
Shizhé'é shinaai naalnishigdd deeya. 'My father is going to where my

brother works.'

2. Sentence MNegation. (doo...da)
Shizhé’é doo yalti’ da. 'My father is not speaking.'

The favorite place for doo is second position.

Shizhé’é doo 11}’ yizloh da. 'My father didn't rope the horse.'
Ashkii doo at’ééd yizts’'gs da. *The boy didn't kiss the girl.’
At’é&éd doo ashkii bhizts’gs da. "The girl wasn't kissed by the boy.'

Shizhé’é bichidi yichxe’- 'My father's car broke down.'
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Shizhé'é bichidi doo yichxg’ da. 'My father's car didn't break down. "
Dooc shizhé’é yaiti’ da. "It's not my father who's speaking.'
(shi) doo chidi nahideeshnih da. ' *I'm not going to buy the car.'

The position of /deoo/ can be a focusing device. The ‘negative' element Jhanii/
can have the same function.

At*ééd bich’i’ yashti’.

Doo at’ééd bich'i’ yashti' da.

At’&&4 bich’i’ doo yashti’ da.
The second element /da/ does not appear when the relative marker /-igil/ appears:

Lij doo naalgeedigii shil ndooldlosh.

(Horse not buck-rel me-with around-future-walk)

*The horse that's not buckinglwill walk around with me.'’
A possible hypothesis is that only the doo part appears in the base represen—
tation of Navajo sentences:

s =+ (doo) NP (NP) ... etc.

The da is then inserted by a transformatien (da-insertien):

doo = X~V > doo - XV + da
1 2 1 2+da

The surface position of doo is then effected by 'doo-movement ' :

doo - X - RKP - Y =
1 2 3 4
& 2 3 1 4

3. Question Words and Indefinites in Navajo.

a. (Who) Hastiin yalti’. 'The man is speaking.'
Haishii varti’. ‘Someone is speaking.'
Héish@’ yatti’. 'Who is speaking?'
Haish yéiti'. '\Who is speaking?' » These 3 are

SYNOnymous .
HAil4 yaiti’. 'Who is speaking?'
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b. (What) Ha’at’ii-shii shishxash. 'Something bit mé;f
Ha'at’'iish shishxash. 'What bit me?'
Ha'at'ii-sha' shishxash. 'What bit me?'
Ha'at'ii-1a shishxash.' 'What bit me?’'

c. (Wwhere) HAaa-gdd-sh diniya. 'Where are you going?'
Haadish nanilnish. . 'Where do you work?'_
HA4-3éé-sh nanina. 'Where did you come ffoﬁ?'

The interrogatives and indefinites can be introduced by phrase structure rules.

T {Ezfét’ii} { ::Eii}

EP »+ haada + E {—sh' }
-shii

Shizhé'é hadgddshii deeya. 'My father is going somewhere.'’
Ne— —

h&da-E-shil

4. Indefinite Negatives.

Haishij] yarti-. *Someone is speaking.'
D66 haida yalti’ da. 'No one is speaking.'
D&6 hdida yadoolrtih da. 'No one will speak.'

In forming these, apparently /da/ replaces /-shii/:

Da-Suffixation: Doo - X @ (E)-shii - Y
1 2 3 4
1l 2 +da 4
Haishi] yatti’. 'Someone is talking.'
Doo haida yé&tti’ da. 'No one is talking.'
Haishii at’ééd yizts’'egs. 'Someone kissed the girl.'

Doo hajda at’'ééd yizts’gs da. 'No one kissed the girl.'
Ashkii haishil yizts’gQs. 'The boy kissed someone.'

Ashkii doo haida yizts’gs da. 'The boy didn't kiss anyone.'
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At’ &3 haishii bizts’os. 'The

at’'ééd doo haida bizts’gs da. 'The
HAishji ashkii bizts’gs. 'The
Doo hadida ashkii bizts’'gs da. 'The
Ashkii haishii yich'i’ yalti’. 'The

Ashkii doo hiida yich’'i’ yalti' da.
Shizhé'é& hadgdbdshii deeya.
Shizhé'é doo haigddda deeyda da.

(Phonological rules involving /da/ added

Doo-attraction: doo - X - QE da -~
1 2 3
0 2 13

19

girl was kissed by someone.’
girl was not kissed by anyone.'
someone. '

boy kissed

boy kissed no one.'
boy is speaking to someone.'

'The boy is speaking to no one.'
'My father is going somewhere.'’
‘My father is not going anywhere.'
to verb stems: CV + da =+ CUvda

ciic + da - CvUvVCda)

*I will buy a car.'
'My father will buy a car.'

'‘My father wants to buy a car.’

"I will go to Gallup.'
‘My father will go to Gallup.'

'‘My father wants to go to

Gallup.'

'I want to buy a car.'

5. Direct Discourse Embedded Sentences in Navajo:
a. Example Sentences
(shi)} chidi nahideeshnih.
Shizhé’é chidi neidiyoolnih.
Shizhé’é chidi nahideeshnih nizin.
(shi) Na’'nizhoozhigdd deeshadl.
Shizhé’é Na’'nizhoozhigdd doogaal.
Shizhé'é Na'nizhoozhigod deeshéél nizin.
shi chidi nahideeshnih nisin.
nisin < {(ni + sh + zin)
b. Embedded Sentences:

Just a few verbs take bare tensed S

dishni 'I say'

complements:
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nisin 'T think, want'
PNy s . . P ' wants to .
Shizhé'é chidi nahideeshnih nizin. 'My father {thinks he‘ll} buy a car.

(literally: "My father thinks, 'I'll buy a car'.")

/Z\V

NP

.

shizhé’é - (shi} chidi nahideeshnih nizin
3
cbligatorily deleted

expects me }

Shizhé’é (shi) chidi nizhdiyoolnih &shé’ni. 'My father {thinks I'm going

4th person, refers to buy a car.'
to 1st person

/s\ v
shizhé' é {shi) chidi nizhdiyoolnih ashdé’ni

Shizhé'é Jéan chidi neidiyoolnih yé’ni. "My father thinks John is
going to buy a car.'

With John in the main clause binding
the 3rd person in the embedded clause.

/s\

shizhé’é - Jaan chidi neidiyoolnish yé'ni

NP

6. Embedded Negative Sentences.

Shizhé'é doo chidi nahideeshnih da nizin. 'My father doesn't want to buy
a car.'
(literally: '...wants not to buy a car', " . .thinks 'I will not buy a car'.")
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doo 1 | I
shizhe’é shi chidi nahideeshnih nizin

If /doo/ is in first position, the senterice is ungrammatical when /da/ is on the
embedded verb.

*poo shizhé’é chidi nahideeshnih da nizin.
Note the following variant sentence in which a prefix /ii-/ appears.

? Shizhé’é iinizin doo chidi nahideeshnih da.

thinks he won't

1
My father {wants not to

buy the car.’
Now consider the case in which the main verb is negated:
Shizhé'é doo chidi nahideeshnih hizin da.
Doo shizhé’é chidi nahideeshnih nizin da.
25hizhé’é chidi doo nahideeshnih nizin da.
Movement of elements is restricted, however. 1a’ cannot move into a position

before an embedded verb.

Ashiiké lﬁ, Na’nizhoozhigéé;deeshéél nizin.
*

one of the boys wants to go to Gallup.'

Shizhé'é doo shinaai bilil’ deeshlonh nizin da.

think he'll

} rope his older brother's horse.'
want to

" 'My father doesn't{
?Shizhé’é shinaai doo bilii deeshioh nizin da.

Note the occurrences of da in the following sentences:

Sshizhé'é doo hadgddda deeshAAl nizin da. 'My father doesn't want to go
anywhere.'

Shizhé'é doo hadgddda deeshday danizin. 'My father thinks he won't go any-
where.' :
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The first S has the Deep Structure:

AN

haagddda deeshdatl

While the second has the following structure:

P

) nizin
doo NP EP v da

ANEY

hddgddda deeshaal

<

NP

shizhé
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onsider the folloving sentencess: |
1) (a) Hgféhgg yéiti’. 1Someone is speaking.!
(b) Doo naida yéiti’da. tNo one 1s speaking.!
(c) Doo yéiti’f&a. - ' .
2) (a) Hézéhgg'at’éga yizts’os. !Sbmeone kissed the girl.! '
(b) Doo n{{aa at’&€ad jizts’gsda. 1Yo one kissed the gifl.'
(c) Doo at5éEd yizts’gsfaa.
'3) (é) Ashkii hgféh£¥'yizts’9$.i 'Therboy kisced someone.!
{b) Ashkil doo na{aa yizts’ésda. 'The boy;didn‘t kiss anyone.'
(c) Ashkii doo yizts’ggféa. | . '
[4) (a) At’éga‘h555h§§'bizté’gs.',lThe girl was kissed by someone.!
(b) At?86a doo nhi{da bizts’osda. The girl wasn't kissed by anyonéﬂ
(c) At'd¥4 doo bizts’osida. |
W) (2) Héfﬁhig'ashkii'bizts’Ps. 1Some one was kissed by éﬁe boy.!
(b} Doo ndida ashkii bizts’osda. 1No one was kissed by the boy.!
(¢) Doo ashkll bizts’gsf&a.
(6) (a) Ashkii hifshil yich’y’ ydti’. 1The boy is speaking to someone.'
{b) Ashkii doo hégéé yich’}’ yéiti’da. 1The boy is not speaking
. P, to anyone.'
(c) Ashkii doo yichli’ yarti’ida. :
(7) (2) Hastiin hézéégéhgg deeyéi 17he man is golng somewhere;‘
“b) Hastiin coo hégédgﬁa deegé%éa. 'The man.is not ;oing aﬁy&hered
(c) Hastiin doo decydnfz83aa. '
(8) (a) shiznd?d ha’du’{¥sn{{ nanide=shnih n{zin. 'Ly father thinks he
o, Py _ will buy somethipf.f
{(b) Shizhe’e doo ha’at?{{da nzhideashnihda niZin. 'y father thonis

‘) - s y he won't buy anytning.’
{c)} Shizhe’e doo nahideeshnihica nizine.
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(9) (a) shizné?§ ha’sb’{{sni{ nahidecshnih nifin., 'My father thinks he
, e, vill buy something.!
{b) Shizhd’¢ dwha’st’{{da nehideeshnih nizinda. "My father doesn't
: ’ , _ think he will buy anything.!
(¢} Shizhe’e doo nahideeshnih nfzin{da. .

’, |
(10) (=2) Shizhé’élhiishgz'bich’i’ yédeeshtih nizin, ¥y father thinks
’ o, P ¢ he will talk to someone. !
(b) Shizhé’é doo hédida bich’i’ yadeeshtihda nizin. . 'Ky father thmn ks
s , . ¢ . 'he yon't talk to anyone.!
(¢) Shizhe’e doo bich %’ yadeeshtihida nizin.
(11) (a) shizné’¢& hé'{sh{.lf bich?i? v4deeshtih nfzin. ‘'My father thinkshe

J . Py . , will talk to someone.!

(b) Shizhé’€ doo hafda bich’i’ yadeeshtlh nizinda. 'Ly father doesn't
P ey s think he will talk to anyone.!

(c) Shizhé’e doo bich 2’ yagdeeshtih nizinfda,

(12) (a) Shizhése,hégédg%hgg deeshask nf;in. '¥y father thinks he will
. o, . o, , 70 somevhere.!
(v) Shizhé*¢ doo hfdgddda deesndaidz nizin. ‘'¥y fathsr thinks he
o ' won't —o anyvhere,! '

Y doo deeshQ}EESBHa nizin.

(¢) Shizné:

e
(13) (a) shizhé’8 ha’a’goﬁ’sh‘fg desshdad nizin. 'My father thinks he will
y . go somewhere,!
(v) Shizhé’e doo hﬁééégha deeshidi nf&inda. 11,y father cdoesn't think
/- s 7 . ,, he will go anyvhere.!
(¢) Shizhe’e doo deeshaa:i nizinigooda.

Problems:

A. In the above sets, the (c)-sentences arse synonyrious with the
(b)-sentences. The problem is to incorrorate the (c)-sentences
into our analysis of MNavajo. Let us assume that the (¢)-
sentences are vroduced by means of a transTormational rule vanlm
moves an element from some prefinal position Iinto the positicn
between the verb and.the final enclitic -da. Your task is to

rovide arzuments -~ as many, as you czan tnink of -- in favor
of this Transformational Kypothesis, as opposed %o a Base’
Hypothasis sccording to which the {c)-sentencss are procuced
directly by phrase structure rules.

B, Show how the Transformational Fyrothesis would extlain the

i11l-formedéness of sentencces (14-12) below, ané now & comn-
peting Base Hypothesis could do so only with considerable loss

_ of generallty.
s /
{14) #Dco yashti’ida.
/
(15) #Ashkii doo yAxti’ica,



&y
(186) #shizhd’é doo shi}hozhféé;‘ _
{17) =Ashkil déd at’ded jiztsfgsféa;' '
(18) %Shizhg’gldoo naalnishféégha; (Cfa %Shizhé“éf&oo Kin}é%féégf

) ' naalpishda.)
{19) %Shizhé’é doo Kinléhféééﬁdeeshéﬁl nizinigésdas

C. Show how the Transformational Hypothesls can,.ﬁoﬁ easily
than the Base Hypothesis, explain the meanings of tha following
sentences. : .
(20) (=; Ashkii doo yiztsigsfha. tThe .boy -didn't kiss anyonz.!
(b) Doo ashkii yizts’gsfaa,r 'No one'ki#sea the boy.f_ :
(¢) Ashkii doo biztéfésfaa. 1The boyiﬁgsh't kiésed-by anyone.!

(a) Doo ashkil biztS’gsfﬁa.' 'No one was kissedkby the ij.f
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1. Problem #2 handed out. Hints for working on Problem #2.

A, Assume that all (¢) sentences have an i1 as part of their structure.

This i_can be moved to the right by a rule (which alsoc moves enclitics).

X - doo - i () - ¥ = da = 1 2 0 4 3 5
Example:
Doo i ya&iti’ da. Doo yalti’ i da.

'No one is speaking.'
{There is an alternative analysis. An interrogative proncun {which we abbre-
viate H) may be turned into an é_when moved to the right:

¥ - doo - HI(E)da - ¥ - da =—> X - doo - Y 1 (E) - da

Example:
Doo héida yaltti' da. Doo yaiti' i da.)

B. Additional sentences

(14") * Yashti’. 'T am speaking.'

(15%) Ashkii yaiti’'. 'The boy is speaking.'

{167) Shizhé'é doo shithozh da. 'My father is not tickling me.'

(17"} Ashkii at'ééd yizts’gs. | 'The boy is kissing the girl.'

{18') *Shizhé’é doo Kinlanigdd naalnish da. 'My father doesn't work to
Flagstaff.'

(18'") Shizhé’é Kintdnigdd deeya. 'My father is going to Flagstaff.'

(18'*") Shizhé'é doo Kintdnigdd deeshadl nizin da.
'My father doesn't think he'll go to Flagstaff.'
{Hypothesis: 1 is a pronoun without a person marker, unlike /shi/ which has
the person marker /sh-/~-shi < sh + 1i.)

c. Example of a negative sentence with i_in the deep structure.
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S\
NEG' NP \Iip '
| |
doo ashkii | yiyiiltsgada
i

The rule applying to this structure actually generalizes to sentences

besides negatives.

X - doo - A - y - da (where A is a cover symbol for NP and EP)
1 2 3 4 4 =—> 1 2 0 4 3.5
D. Examples where i_ occurs in sentences which are not negatives.

Shizhé'é deeshdal nizinigodsh nil bééhdzin?

'Do you know where my father wants to go?'
Shizhé'é deeshaal nizinigdd doo shil bééhdzin da.
'1 don't know where my father wants to go.'

It is alsc used in negative commands , though the source of i here is not

well understood:

T+ Aadoo yanitti’i. ‘Don't speak.'
2. Relative Clauses.
A. Relativized sentence without a head noun.
~
. Ashkii deezhtlizhé¢le yicha. 'The boy that fell down 1S crying-'
v

This sentence appears to be a combination of two sentences.

Ashkii deezhtlizh. "The boy fell down.'
Ashkii yicha. 'The boy is crying.'
Ashkii 1ééchaa’i bishxashée nahal’in. 'The dog that the boy was

bitten by is barking.'

As above, two sentences appear to underlie this sentence.



Navajo - Lecture 12 _ ' 8 g

18 November 1976 4L
Ashkii }ééchaa’l bishxash. *The boy was bitten by the dog.'
Lééchza’l nahal’in. 'The dog is barking.'

Hypothesizing a /-¢e/ relativizer, the following phrase markers can be

assigned to the above complex sentences:

P

NP v
S . yicha

/\

ashkii deezhtlizh -ée
s
TP””’;//,//" \\s\\\\\\\\\v
1/////,/§“*-_‘~\“5““ nahal’in

ashkii tééchaa’i bishxach -¢¢

Properties of the relativizer.
{a) ée¢ can become &z by assimilation.
{b) The form ég is used if the tense (not aspect) refers to past time.
(c) If the tense is the same as that of speech act, -igii is used.

The relativizer {igii, ée)} is a type of nominalizer. It alsc serves as a

'definite’ determiner.

Examples:
Kinge. 'The house I mentioned before.'
Ashkii naalnishigii. "The boy who is working.

'The fact the boy is working.’
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i + tense element = &g

{ + gii = igii (gii makes it more specific)

azéé’iir’ini ‘doctor' (medicine maker)

azéé’iit’inigii ‘the particular one who is making medicine'

A relativized sentence is therefore a nominalized sentence.
B. Rrelative sentences with head but without the 'relative noun phrase’
(i.e. without coreferential NP in the subordinate clause):

Deezhtlizhée ashkii yicha. "The boy that fell down is crying.'
///////,NE\\\\\\\\\ -v
S ' T

deezhtlizh -¢ég ashkii

yicha

Question from class: How does one know +hat the NP ashkii in the sentence
Ashkii deezhtlizhée yicha. -

is in the embedded sentence and not in the matrix sentence?

Answer: The position of sentence adverbs can show position of NP's.

T1'éédaa’ ashkii deezhtlizhée k’ad yicha.
Last night boy fell down-rel now cry

The boy who fell down 1ést night 1is crying now."
If 'ashkii' were in the_matrix sentence, /tl’ééda4’/ would be the second
element in the sentence, not the first. This argument is not absolute be-
cause Navajo may have an adverb fronting rule which could move /tlrééagz’/
into initial position.
c. an account of sentences in both (A) and (B) above. It is typical

in languages that relative clauses have head nouns, although the head noun
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may appear to the right or left of the relative clause.

English (head on left)

/ i
- the boy who fell down

Japanese {(head on right}

| s/ NP.\-NP
/\

watasi ga katta hon

I bought:t book

‘the beook I bought'

Hypothesis for Navajo (cf. P. Platero, IJAL 40.3 (202-246) 1974. 'The Navajo

Relative Clause.')}

All relative clauses are headed in the deep structure of Navajo. Navajo
will thus have a d.s. similar to Japanese, but with the differcnce that either
coreferential NP can be deleted. (For an alternative analysis in which the
headed type of relative clause is formed from the headless see Hale and Platero

in Navajo Language Review 1.1 (9-28) 1974.}:

s/ N
T/ Jf\REllL
| |

ashkii deezhtlish -ge

P

/

NP

ashkii

Either of the ashkii's can be deleted and will thus leave 'a gap'.
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Consider the following sentence:
Ashkii at’'ééd yits’gsée yati’.
For this sentence there should be two interpretations: 'The boy that kissed

the girl is speaking.' and 'The girl that the boy kissed is speaking.'

S o
/ \
NP \'
" l—
s/ \NP yaei’
“ashkii at'éed yizts’'Qs-—¢g ashkii
at'ééd

These two interpretations are available and are thus consistent with the hypo-
thesis that the head noun can be deleted under identity with the relative noun.
For the headed variety. however, only one interpretation 1s avaiiable.

At’&8d yizts’ gsée ashkil yarti’.
'The boy that kissed the girl 1is speaking.'
(*'The boy that the girl kissed is speaking.')

This fact about the interpretation suggests that there may be a constraint on

backwards deletion.

Constraint on Backwards Deletion: Delete the first NP only.
Purther evidence for the Baékward Deletion Conéiriént is found in the next sen-
tence.

At'ééd bizts’osée ashkii yalti’.

'The boy that the girl xissed is speaking.’
After SOI, at’ééd will be in initial position. The ashkii in first position is
deleted under identity to the head. There are other cases of deletion not in=-

volving relative clauses. aAll involve deletion of initial noun phrases.
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Forward Deletion:

Ashkii yah’iiya 45366 at'&éd yizts’os.
boy walked in and the girl kissed

'The boy walked in and kissed the girl.'

ashkii yah'iiya : (ashkii) -at’ééd yizts'os

Backwards Deletion:
{A) At’ééd yizts'os AaddS ashkii dahdiiya (some speaker * this)

(he) girl kissed and then the boy left

or Backwards and Downwards Deletion:

At’ééd yizts’'g@sgo ashkii dahdiiya.
'Having kissed the girl, the boy left.’
C. An alternative theory for understanding relative clauses.

Let us consider first the following two independent sentences.

a. Shi bjih bil adéldooh. 'I shot a deer.’
I deer shot
b. Shi biih nisél’ah. 'I butchered a deer.'

These can be combined to form the following complex sentence.
(Shi) biih bil adédoghée nisél’ah.
'I butchered the deer I shot.’

Or, in our presumed deep structure:
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l\

nisél’ah

hip NT v REL bu.h—-ﬁ
shi bijh bil adéldooh  ée
g

The headed form of the relative clause, 1 (shi) bil adeldQQhé@ biih
nisét*ah’, is not possible.

The next sentence will shoot down thg first NP Bagkwards Deletion
Constraint as well as a theory that holds only subjects éan be deleted
under Backwards Deletion.

shi bil adéideehgo b;ih dahdiilwod.

‘Wwhen I shot it, the deer fled.'

Now consider the following cases:
Ashkii at’'ééd yizts’'gs¢e hastiin yiyiitts3’.
'The boy who kissed the girl saw the man.'

"The girl whom the boy kissed saw the man.'
AP v

|

41////”:;;7 haStlln YiYiiltSé’
RTL
ashkll at’ééd yizts’gs -ée
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A possible meaning for the sentence /Ashkii at’ééd yizts’gsée hastiin
yiyiiltsd/ might be thought to be '*The boy saw the man that kissed the
girl.' This interpretation is not possible, although a deep structure
is available which is consistent with current assumptions about deletion

which could yield this interpretation.

— T
o \

ashkii yiyiiitsa
NP / \\REL hastlln
|
hastiin at’ééd yizts’'Qs —ée
|
4

1f the relative NP 'hastiin' were deleted, the sentence /Ashkii at’ééd
yizts’'osée hastiin yiyiiltsa/ would be generated.' But the deep structure
meaning is not available so some other account must be given. ‘The problem
is, then given a sentence of Navajo, how is an interpretation assigned to
it?
Consider the following sentence:
Ashkii at’ééd yiyiiltsinée yizts’gs.
{2) ‘'He kissed the girl that the boy saw. '
(b) ‘'The boy kissed the girl that he saw.'
_(c) 'He/She kissed the boy who saw the girl.'

But not (d) ‘'The boy kissed the one who saw the girl.

—

Now consider the structures that underlie these interpretations:
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{a) s
| T
NP-f——"””"”d’Np v
A NP yizts’¢s

|

ashkii at'eed yiyiiltsénée
l]P / NP\ |
NP yizts’'Qs

ashkii

P \\ e

ashkii at’ééd ylyllltsgneg

it (Y

{c)

NP \Y

A / \ yizts'os

// N— L
|

ashk11 at eed yiyiilts’dn ¢¢
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ashm / \

NP NP v A

.

A at*ééd yiyiilts’é@née

CY

yizts’gQs

There is no way to block sentence (d) from being generated by the phrase
structure rules. Thus some principle must be established to rule out

these structures. Some additional sentences will help clarify the issue.

(e) ' s _ .
NP"f”’/””””"’N;h‘f‘hﬁﬁﬁsﬁﬁﬁhﬁﬁﬁ“‘“~v
ashkii S ’ NP yidoots’ps
// \\
ADV NP NP v at'ééd

| |

tl’éédda’ A at'ééd yiyiiltsgnée

(£} *S

/ \
T/| N

t1'éédd4’ ashkii at’eed yiyiiltsénée
indal SITIwn
L (£) cam \rojou\f& Twe Samad i Wr)“{?b%’m
N~ (;ﬁ Yy —— kaic(t«\J«XZhJﬁI &Ef%gkiifiéj:‘ equﬁ?éaL\.Zzs A
PG s Yrac

yidoots’gs
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The /ashkii/ in the embedded sentence cannot be coreferential with the
commanding A of the matrix sentence.
Ashkii t1'é4d34’ at’ééd yiyiiitsgnéeg yidoots’es.

'The boy will kiss the girl he saw last night."

TP ,/////’///NP |
ashkii /S \ NP yidoots'es
ADV NP \NP\V . at'ééa

| »

t1°&8d34’ A at'ééd yiyiiltsgnge

in sentence (f) /ashkii/ may be coreferential with the A subject of
yiyiittsdnée. To handle all of the above facts we will introduce an
interpretive theory of gaps.

Conditions on the Appearance of a Gap.

(a) Suppose we knowrthere's a gap. Iﬁ a string of the form X - NP -
A - ¥, then A must be co;eferential with NP.
Sy@ (b) Scan the string, if there is a violation of X - NP - A - ¥,
?;, then star the sentence.

Interpretation of Grammatical Relations.

(I) (a) ‘'Object'/ —-—=- yi-verb
(8) ‘'Subject'/ =---- bi-verb
(II) (A) ‘'Subject'/ ---- NP yi-verb
(B) 'Object'/ -—-- NP bi-verb
If (II) does not apply, insert a *gap' and apply the above conditions on

the appearance of a gap. We now can correctly interpret sentences {a-£f).
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A study of extraposition in Navajo and how this study bears

Extraposition in Navajo.
on a study of extraposition in English.

on certain claims which have resulted based

1. Introduction. Navajo is basic SOV.

Jéan ti}' yizloh = John - horse - roped

s o v
’////,,//’T\\\\\\\\\
NP NP v
| l |
Jaan 11i’ yizloh

The head of a relative clause is basically on the right in Navajo, on the left

in English.
NP English: NP

N\ /N

S NP NP

Navajo:

Example: Jaan :ii' nayiisnii'éeg yizloh 1John roped the horse he bought!

S

NP

Jéii////a\\\hE NP yizloh
s\ L iy’

NP v ée

1ii' nayiisnii’

After extraposition we have the following structure.
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Jaan tii’ YiZIOi////N“\\\\\\\\ TEL
1ji' nayiisnii' ée
2

Principle: After extraposition, one always deletes the relative noun.

The above structural transformation can be accomplished by a rule of extraposition.

The Extraposition Rule: X - [NP S NP ]NP —_— Y
1 2 3
=> 1 g 3 4 2

2. Additional facts relating to extraposition in Navajo.

Extraposition can take place out of either subject or object position. After the
relative noun in the extraposed is deleted, ambiguity may arise.

Ashkii at'ééd yoo'i hashtlizh yiihyitlizhée
boy - girl sees in the mud fell"

'The boy sees the girl who fell in the mud' or 'The boy who fell in the mud
sees the girl' '

The structure of this sentence is the following:

/S\\

NP NP v

ashkii at'ééd yQRTL

hashtlizh yiihyitlizh -ge

Two different structures can underlie this phrase marker.
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g
/N /\ |

ashkii S NP yoo'l at'ééd yoo'i

2 / \m
/ NG

NP NP Vv N V

at'é4d hashtlizh yiihyitlizh ashk11 hashtlizh yllhyltllzh

Question: For intransitive verbs,; can either the relative NP or the head NP
be deleted?

=>
/\ | ™
NP A NP I
/N | 2N
S . NP  alhaa’ ashkii aihda’ REL
/ | il / N\,
5 REL ashkii g LN -igii
/ N\ | u |
NP v -igii ashkii . athosh

ashkii athosh

* athdi’' ashkii athoshigii. For Ellavina, backwards, and upwards deletion
blocked. Some dialects (Paul Platero's) allow such sentences.

(*) akhi4' ashkii
(*) athaa' ashkii athoshigii

For dialects in which the above sentences are acceptable, the source of the
‘headless relative clauses' may be a noun phrase postposition rule.

3. Verbs with three arguments.

Ashkii jool at'ééd yeini'd hashtlizh yiihyitlizhee
boy - ball - girl gave in the mud (which) fell
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Based on earlier sentences we might guess that the above sentence would have three

readings.
a) ‘The boy gave the ball that fell in the mud to the girl'

b) 'The boy who fell in the mud gave the ball to the girl’

c) 'The boy gave the ball to the girl who fell in the mud'

only the (b} and {(c) sentences are available as reédings since the verb
yiihyitlizhée requires an animate subject. Thus the (a) sentence is ruled out
by the selectional restrictions on the verb. - :

The (a) reading is provided by the following sentence.

Ashkii jool at'ééd yeini '4 hashtlizh biihyilts'idée

Thus selectional restrictions on the verb restrict the possible readings on
extraposed sentences.

Ashkii t1'66%r neidiild hashtlizh biihyidelée
'The boy picked up the rope that fell in the mud'

The verb stem requires something rope like.
Consider next the following sentence with three NP arguments. .

Ashkii at'ééd 1ii*® yeinildoz ba'niltsocodée

boy -girl - horse led to one I fed

*The boy led the horse that I fed to the girl’
"The boy led the horse to the girl I fed'
'The boy I fed led the horse to the girl',

All are good. ©One can therefore extrapose out of all three NP positions.

Extraposition out of a postpositiconal phrase.

The sentential object of
can be extraposed to the

Jool tsin ch'é'étiingi

ball log in the doorway

the postpositional phrase in the following sentence

right.
siténge b&hatis yilts'id

it was lying over it it fell

'The ball fell 6ver the log lying in the doorway'
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l} ExtrapositiOn
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5. Navajo and the Island Constraints.

A. Coordinate Structure Constralnt.

In a coordinate structure, no conjunct may be moved, nor may any element
contained in a conjunct be moved out of that conjunct.

This constraint forces a particular reading on the following sentence.

Lééchaa'i ddS masi ba'niitsoodé¢e ahigd
"The boy and the cat which I fed are both fighting’

The only readlng which is available is one in whlch the coordinate structure

Lééchaa'i &%6 masi is the head.
\\\\\N ahigd

Leech@@ i doo misi

v
AN
N

NP dddé NP ba'niltsood

Lééchza'l masi

U Extraposition
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Under the hypothesis that a relative clause could not be ripped out of one of
the coordinated NPs the unigque reading is explained.

*1ééchaa'i d6S masi ahiga nahal'inge
(* The dog and the cat were fighting which was barking)

s

| NP \ .
/NP daéé T . ahigd
s NP misi

NP 1Y ée

Eééchaa'i nahal'in

The extraposition of the embedded sentence violates the coordinate structure
constraint. The correct reading requires that mési be part of the head.
But this reading violates the selectional restrictions of nahal'in 'bark’.

The next sentence is also ungrammatical.

*Ashkii déd Nibaa' ahiga ba'nittsoodée
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/ S\\ RElL ashkii -

NP vV ée

ashkii ba'nittsood

Because the extraposed relative clause must refer to the entire subject conjunct,
and 'because proper nouns cannot be heads, the sentence is ungrammatical.

B. Complex NP Constraint.

No element contained in a sentence dominated by a noun phrase with a
lexical head noun may be moved cut of that NP by a transformatiomn.

NP
5\\\\ NP,
A * (movement is blocked)

Consider the following sentence.
_Hastiin dibé ba'niltsoodée néis'ahée Adeeshgish

- '¢he man who butchered the sheep I fed cut himself'
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{hastiin) ddeeshgish

/\é’

hastiin _8 NP neis'ah

A

REL (dibé) => g

dibé ba'niltscod ée N

The embedded S, when moved out of the complex NP forms an ungrammaticalxsentence:

*Hastiin dibé néis'anée Adeeshgish ba'niltscodée

C. Sentential Subject Constraint.

This constraint does not appear to be obeyed in Navajo. Extraposition can
take place out of the following sentence.

- Lééchaa'i ba'niltsodée iisxinigii ya'éat'ééh

'The fact that the dog I fed killed something is good’®

REL
///”//’///,, NP iisxi igii
NP v REL Leechg@ i =>g

| ]

2ééchaa'i ba'niltscod é&e
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The extraposed form of this § is good.
rLééchaa'l iisxinigii ya'4t'ééh ba'niltscod¢e and also
Lééchaa'i tl1'izi yiyiisxinigii doo yé*» - . 1a adjdddsd’ sizachia

1T+ is terrible (not good) that the dei s sed the goat that butted me yesterday'

Compare the ungrammaticality of the following English sentence.

#1That the dog killed the goat is terrible butted me yesterday'

6. The actual source of 'extraposed’ sentences.
Consider the following grammatical sentences of Navajo.
Lééchaa'i masi yinooichéél ahiginée
reciprocal
*1'The dog is chasing the cat which were fighting (each other}' or

Ashkii at'ééd yizts'es Na’nizhoozhigdd naazh'azhga
*'The boy (sg) kissed the girl (sg) who (dual) were going'to Gallup'

There is no possible embedded relative clause source for these sentences. In
the last sentence, both the subject and object are singular. Thus, the above
structures must be bhase generated. Since such structures must be_baéed
generated in any case fhere is no longer any support for an extraposition
transformation in Navajo.
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